UGC NET 2022 POLITICAL SCIENCE SH2

Topic:- 002_SH1_PARTA_S2
1)  Who ameng the follewing authored the book 'The Rights of Mar'?

1.1 8. Mill

2, Thomas Paine

3, Thomas Hill Green
4, John Locke
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[Question ID = 201][Question Description = 101_2_PLS_0OCT22_52_Q01]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]

3. 3 [Option ID = 803]
4. 4 [Option ID = 804]

2) Who ameng the follewing coined the term Ecofeminism?

1. Francoise d’Eaubonne
2. Ckin

3, Kate Millett

4, Germaine Greer
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[Question ID = 202][Question Description = 102_2_PLS_0CT22_52_Q02]
1. 1 [Option ID = 805]
2. 2 [Option ID = 806]
3. 3 [Option ID = 807]
4. 4 [Option ID = 808]

3) Which theory of Rights claims that Rights are inalienable and cannot be separated or taken away from
the individual as they are inherent and prior to society and state?

1. Theory of Natural Rights

2, Theory of Legal Rights

3. Theory of Contractual Rights

4, Theory of Social-Welfare Rights
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[Question ID = 203][Question Description = 103_2_PLS_0OCT22_52_Q03]
1. 1 [Option ID = 809]
2. 2 [Option ID = 810]
3. 3 [Option ID = 811]
4. 4 [Option ID = 812]

4) What does the idea of “positive liberty” mean?
1. The state has the right to intervene in the hope of making people’s lite more fulfilling
2, People should just get out there and do whatever they want
3. Only self-confident people can be free
4, Freedom means absence of constraints deliberately imposed by other people
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[Question ID = 204][Question Description = 104_2_PLS_0CT22_S2_Q04]
1. 1 [Option ID = 813]
2. 2 [Option ID = 814]
3. 3 [Option ID = 815]
4. 4 [Option ID = 816]

5)  Which of the following is incorrect regarding Locke's political philoscphy?

1. The state of nature was one of peace and mutual assistance

2, The right to property is priorfo the society

3, The first essay of the Two Treatises of Govermment was devoted to the refutation of Filmer
4 The final source of state s the right to self defence of human beings
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[Question ID = 205][Question Description = 105_2_PLS_0OCT22_S52_Q05]
1. 1 [Option ID = 817]
2. 2 [Option ID = 818]
3. 3 [Option ID = 819]
4. 4 [Option ID = 820]

6) Apclogy is a dialogue writters by Plato. Which among the follewing are the characters of this dialogue?

1. Socrates and Crito
2. Socrates and Polymarcus
3. Socrates and his accusers
4, Socrates ard Plato
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[Question ID = 206][Question Description = 106_2_PLS_0CT22_S2_Q06]
1. 1 [Option ID = 821]
2. 2 [Option ID = 822]
3. 3 [Option ID = 823]
4. 4 [Option ID = 824]

7)  Which of the following bock is NOT written by Machiavelli?

1, Art-of War

2, The Discourses-on Livy
3, Discourses on Ineguality
4. The Prince
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[Question ID = 207][Question Description = 107_2_PLS_0CT22_S2_Q07]
1. 1 [Option ID = 825]
2. 2 [Option ID = 826]
3. 3 [Option ID = 827]
4. 4 [Option ID = 828]

8)  Which of the following is NOT written by Mary Wollstonecraft?

1. A Vindgication of the Rights of Men

2, A Vindication of the Rights of Women
3, Thoughts of the Education of Daughters
4 Discourses on Education
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[Question ID = 208][Question Description = 108_2_PLS_0OCT22_S52_Q08]
1. 1 [Option ID = 829]
2. 2 [Option ID = 830]
3. 3 [Option ID = 831]
4. 4 [Option ID = 832]

9) Identify the first Ashram of Gandhi in India

1. Sabarmati Ashram
2. Wardha Ashram
3. Kochrab Ashram
4, Phoenix Ashram
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[Question ID = 209][Question Description = 109_2_PLS_0CT22_S2_Q09]
1. 1 [Option ID = 833]
2. 2 [Option ID = 834]
3. 3 [Option ID = 835]
4. 4 [Option ID = 836]

10) Which work is NOT related to Barni?

1, Fatwa-i-Jahandarl
2. Tarikh-i-Firuz Shahi
3, Zawabi

4, Akbarnama
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[Question ID = 210][Question Description = 110_2_PLS_0CT22_52_Q10]
1. 1 [Option ID = 837]
2. 2 [Option ID = 838]
3. 3 [Option ID = 839]
4. 4 [Option ID = 840]

11)  In which year did Pandita Ramabai open her Shardg Sadan (Home for Learning)?

.1889
.1798
.1898
. 1857
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[Question ID = 211][Question Description = 111_2_PLS_0CT22_S2_Q11]
1. 1 [Option ID = 841]
2. 2 [Option ID = 842]
3. 3 [Option ID = 843]
4. 4 [Option ID = 844]

12) The book Six Glorious Epochs of Indian History was written by,

1. M.K. Gandhi
2, 1L Nehru

3, V.D, Savarkar
4, M.N. Roy
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[Question ID = 212][Question Description = 112_2_PLS_0CT22_S2_Q12]
1. 1 [Option ID = 845]
2. 2 [Option ID = 846]
3. 3 [Option ID = 847]
4. 4 [Option ID = 848]

13)
The concept of political culture involves three components of individual erientations:

{I) cognitive crientations

(Il) affective orientations and
(Il evaluative orientation.
Whose statement is this?

1. Alan R. Ball

2. Lucian Pye and Sydney Verba
3. Almond and Powell

4, Rose and Dogan
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[Question ID = 213][Question Description = 113_2_PLS_0OCT22_52_Q13]
1. 1 [Option ID = 849]
2. 2 [Option ID = 850]
3. 3 [Option ID = 851]
4. 4 [Option ID = 852]

14) Who among the follewing is the author of the book, The Ideal of Natianalism?

. R. Muir
.&.P, Gooch
. Hans Kohn
.CJ.H. Hayes
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[Question ID = 214][Question Description = 114_2_PLS_0OCT22_52_Q14]
1. 1 [Option ID = 853]
2. 2 [Option ID = 854]
3. 3 [Option ID = 855]
4. 4 [Option ID = 856]

15) Who among the following envisaged that liberal democracy as a political apparatus would ensure the

accountability of the goevernors to the governed?

1, John Stuart Mill

2. Johm Locke

3. leremy Bentham

4, lean-lacques Rousseau
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[Question ID = 215][Question Description = 115_2_PLS_0CT22_S2_Q15]
1. 1 [Option ID = 857]
2. 2 [Option ID = 858]
3. 3 [Option ID = 859]
4. 4 [Option ID = 860]

16) Which among the following is NOT a type of orientation in a political culture in Robert Dahl's view?

1. Orientation to problem solving

2, Orientation of public management
3, Orientation of political system

4, Orientation to collective action
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[Question ID = 216][Question Description = 116_2_PLS_0CT22_S2_Q16]
1. 1 [Option ID = 861]
2. 2 [Option ID = 862]
3. 3 [Option ID = 863]
4. 4 [Option ID = 864]



17) India announced the Act East Policy in

1. BIMSTEC Summit, 2004
2, ASEAN Summit, 2014
3. IORA Meet, 1997

4, SAARC Summit, 2014
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[Question ID = 217][Question Description = 117_2_PLS_0CT22_S2_Q17]
1. 1 [Option ID = 865]
2. 2 [Option ID = 866]
3. 3 [Option ID = 867]
4. 4 [Option ID = 868]

18) Who wrote, Neo-Coloniglism: The Last Stage of Capitalism?

1. Lenin

2, Nelson Mandela
3, Joseph Nye

4, K. Nkrumah
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[Question ID = 218][Question Description = 118_2_PLS_0CT22_52_Q18]
1. 1 [Option ID = 869]
2. 2 [Option ID = 870]
3. 3 [Option ID = 871]
4. 4 [Option ID = 872]

19) 3C formula was associated with Irndia's foreign pelicy under

1. Dr. Man Mohar Singh
2. LK. Gujaral

3. Narendra Maodi

4, Rajiv Gandhi
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[Question ID = 219][Question Description = 119_2_PLS_0CT22_52_Q19]
1. 1 [Option ID = 873]
2. 2 [Option ID = 874]
3. 3 [Option ID = 875]
4. 4 [Option ID = 876]



20) Mekong Ganga Cooperation (MGC) was initiated by

1. Rajiv Gandhi

2, Narasimha Rao
3. LK. Gujaral

4 AB. Vajpayee
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[Question ID = 220][Question Description = 120_2_PLS_0CT22_S2_Q20]
1. 1 [Option ID = 877]
2. 2 [Option ID = 878]
3. 3 [Option ID = 879]
4. 4 [Option ID = 880]

21) Kenneth Waltz was a;

1. Realist

2. Neo-realist
3. Idealist

4, Anarchist
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[Question ID = 221][Question Description = 121_2_PLS_0CT22_S2_Q21]
1. 1 [Option ID = 881]
2. 2 [Option ID = 882]
3. 3 [Option ID = 883]
4. 4 [Option ID = 884]

22) ‘Qrange Revolution' was associated with
1. Poland
2, Ukraine
3., Russia
4, Moldova
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[Question ID = 222][Question Description = 122_2_PLS_0OCT22_52_Q22]
1. 1 [Option ID = 885]
2. 2 [Option ID = 886]
3. 3 [Option ID = 887]
4. 4 [Option ID = 888]



23) The permanent secretariat of BIMSTEC is in

. Kathmandu
. New Delhi
. Colombo
.Dhaka
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[Question ID = 223][Question Description = 123_2_PLS_0CT22_S2_Q23]
1. 1 [Option ID = 889]
2. 2 [Option ID = 890]
3. 3 [Option ID = 891]
4. 4 [Option ID = 892]

24) India is a signatory of
1. CTBT

2 SALT

3, CEPA

4 NPT
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[Question ID = 224][Question Description = 124_2_PLS_0OCT22_52_Q24]
1. 1 [Option ID = 893]
2. 2 [Option ID = 894]
3. 3 [Option ID = 895]
4. 4 [Option ID = 896]

25) |n which Indian state’s assembly election, Voter Verifiable Paper Audit Trail (VVPAT) was used for the first

time?

1. Manipur
2. Nagaland
3. Kerala

4, Sikkim
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[Question ID = 225][Question Description = 125_2_PLS_0CT22_S2_Q25]
1. 1 [Option ID = 897]
2. 2 [Option ID = 898]
3. 3 [Option ID = 899]
4. 4 [Option ID = 900]



26) Who said, "whether you call it a federal constitution or a

unitary constitution or by any other name, it makes no difference as'long
as the Constitution serves-our purpose,”

1. B.R. Ambedkar

2. Jawaharlal Nehru

3. Rajendra Prasad

4. P. Sitaramayya
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[Question ID = 226][Question Description = 126_2_PLS_0CT22_S2_Q26]
1. 1 [Option ID = 901]
2. 2 [Option ID = 902]
3. 3 [Option ID = 903]
4. 4 [Option ID = 904]

27)
Which of the following is NOT correct about the Comptroller and Auditar General of India?

1, The salary and other conditions of service of the CAG shall be determined by the Parliament, by

law

2. The CAG shall not be eligible for further office either underthe Government of India or under
any state government, after retirement

3. The administrative expenses of the CAG office shall be charged upon the Conselidated Fund of
India

4, The reportsof the CAG relating to the accounts of the Union shall be submitted tothe

Parliament
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[Question ID = 227][Question Description = 127_2_PLS_0CT22_S2_Q27]
1. 1 [Option ID = 905]
2. 2 [Option ID = 906]
3. 3 [Option ID = 907]
4. 4 [Option ID = 908]



28) How many new languages were added by the 92" Constitutional Amendment, 20037
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[Question ID = 228][Question Description = 128_2_PLS_0CT22_S2_Q28]
1. 1 [Option ID = 909]
2. 2 [Option ID = 910]
3. 3 [Option ID = 911]
4. 4 [Option ID = 912]

29) Eco feminism was a special feature of

—

. Silent Valley

2, Plachimada struggle
3. Chipko movement
4, None of these
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[Question ID = 229][Question Description = 129_2_PLS_0CT22_52_Q29]
1. 1 [Option ID = 913]
2. 2 [Option ID = 914]
3. 3 [Option ID = 915]
4. 4 [Option ID = 916]

30) First Lokpal Bill was introduced in Parliament in the year

1971
L1967
1969
1968
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[Question ID = 230][Question Description = 130_2_PLS_0OCT22_52_Q30]
1. 1 [Option ID = 917]
2. 2 [Option ID = 918]
3. 3 [Option ID = 919]
4. 4 [Option ID = 920]



31)  Whoe among the follewing has:provided 'Revisionist Theory of Modernity'?

1. Steven Wilkinson
2, Sudipta Kavirgj

3, Atul Kohli

4, Francine R. Frankel
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[Question ID = 231][Question Description = 131_2_PLS_0CT22_S2_Q31]
1. 1 [Option ID = 921]
2. 2 [Option ID = 922]
3. 3 [Option ID = 923]
4. 4 [Option ID = 924]

32) errier Elwin is associated with
1. Gender Studies
2, Gandhian Studies
3, Tribal Studies:
4, Ecological Studies
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[Question ID = 232][Question Description = 132_2_PLS_0OCT22_52_Q32]
1. 1 [Option ID = 925]
2. 2 [Option ID = 926]
3. 3 [Option ID = 927]
4. 4 [Option ID = 928]

33) Who is the author of The Study of Public Administration?

1. EN. Gladden

2, Woodrow Wilson
3. Dwight Waldo

4, R.A. Warner
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[Question ID = 233][Question Description = 133_2_PLS_0OCT22_52_Q33]
1. 1 [Option ID = 929]
2. 2 [Option ID = 930]
3. 3 [Option ID = 931]
4. 4 [Option ID = 932]



34) ‘Leadership is the activity of influencing people to strive willingly for mutual objectives’. This wassaid by

.James Rost
. Keith Davis
. M.P, Follett
.G.R. Terry
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[Question ID = 234][Question Description = 134_2_PLS_0CT22_S2_Q34]
1. 1 [Option ID = 933]
2. 2 [Option ID = 934]
3. 3 [Option ID = 935]
4. 4 [Option ID = 936]

35) ‘"Bureaucrats resist change.” Who propounded this theory?

1. Antheny Downs (1967)
2. Judith Gruber [1987)

3. D. Thompsen (1967)

4, Robert K. Merton (1957)
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[Question ID = 235][Question Description = 135_2_PLS_0CT22_S2_Q35]
1. 1 [Option ID = 937]
2. 2 [Option ID = 938]
3. 3 [Option ID = 939]
4. 4 [Option ID = 940]

36) Who ameng the following brought logical positivism in the study of policy making and the relation of

means and ends?

1..P. H. Appleby
2, Yehezkel Dror
3, Herbert Simon
4, Dwight Waldo
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[Question ID = 236][Question Description = 136_2_PLS_0OCT22_52_Q36]
1. 1 [Option ID = 941]
2. 2 [Option ID = 942]



3. 3 [Option ID = 943]
4. 4 [Option ID = 944]

37) Local Bodies' Ombudsman may be established to hear complaints of corruption against local bodies,
This was the view of the

. Ashiok Mehta Committee
. Balvantrai Mehta Committee
.LM. Singhvi Committee

da W -

. Second Administrative Reforms Commission
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[Question ID = 237][Question Description = 137_2_PLS_0CT22_S2_Q37]
1. 1 [Option ID = 945]
2. 2 [Option ID = 946]
3. 3 [Option ID = 947]
4. 4 [Option ID = 948]

38) Central Vigilance Commission (1964) was set up on the recommendation of the

1. Gorwala Committee

2, Santhanam Committee

3, Kripalani Committee

4 Administrative Reforms Commission
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[Question ID = 238][Question Description = 138_2_PLS_0OCT22_52_Q38]
1. 1 [Option ID = 949]
2. 2 [Option ID = 950]
3. 3 [Option ID = 951]
4. 4 [Option ID = 952]

39) Which one of the following is NOT hallmark of Development Administration?

1. Change Oriented

2. Goal Oriented

3, Status-quo Oriented
4, Result Oriented
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[Question ID = 239][Question Description = 139_2_PLS_0CT22_52_Q39]



1 [Option ID = 953]
2 [Option ID = 954]
3 [Option ID = 955]
4 [Option ID = 956]
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40) In which ane of following years, the Beti Bachao Beti Padhao Yojena (BBBP) was launched?

1.2012
2.2013
3.2074
4,.2015
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[Question ID = 240][Question Description = 140_2_PLS_0CT22_S2_Q40]
1. 1 [Option ID = 957]
2. 2 [Option ID = 958]
3. 3 [Option ID = 959]
4. 4 [Option ID = 960]

41) Consider the following,
A, Socialism stands for equality
B. Socialism stands for the collection of private property
C. Socialism stands for the elimination of competition
D. Sorialism aims at the elimination of capitalism
Choose the correct answer from the options given below;

1.4, Band COnly
2,A, Cand Donly
3.B, Cand D only
4 A B CandD
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[Question ID = 241][Question Description = 141_2_PLS_0OCT22_52_Q41]
1. 1 [Option ID = 961]
2. 2 [Option ID = 962]
3. 3 [Option ID = 963]



4. 4 [Option ID = 964]

42) Caonsider the following about Post-Modernism?
A, Post-Meodernism is a reaction against traditionalism
B. Post-Modernism recognises pluralism
. Post-Modernism criticises Meta-Narratives:
D. Post-Modernisim criticises Local-Narratives

1.A and B Only
2.8 and C Only
3,Cand D Only
4A B CandD

IR HHPaEe ® Yo # Ftied R 4R sifve
A, FTR MNYFIFHaaT WIEE & [0%S Ui &

B. T HYFIHTEIG S50aE @ Widhd UeH Hidl 8

C. BT YF@aErg Y -3 & A & s
D. IR AYFHaraEs HE- HRH ®1 HT= &30 &
TRy e W IR

1. a0 A AR B

2, FAABARC

3, FAACARD

4ABCIHRD
[Question ID = 242][Question Description = 142_2_PLS_0OCT22_S52_Q42]
1. 1 [Option ID = 965]
2. 2 [Option ID = 966]

3. 3 [Option ID = 967]
4. 4 [Option ID = 968]

43) Which among the following are elements of Liberalism?
A, Individual should have the right to develop his own personality.
B. Man is a rational creature.
C. Society should not be plural,
D. It believes in constitutionalism,
Choose the correct answer from the options given below;

1.4 Band Conly
2.B, Cand D only
3.A Cand Donly
4 A BandDonly



JERAIE & 0@ FRad H 4 P A 8 ?

A, il rfda o1 od @fdad & oW & fieR g1 91y
B, 7S difthd il &

C. THTS 959 g oI dieg

D. 7% Taeams & oy o ©

T fRr T faeed § G o W

1.6ad A BHR C

2. 6aA B, CHRD

3, FAAA CHRD

4, FEAA BARD
[Question ID = 243][Question Description = 143_2_PLS_0CT22_S2_Q43]
1. 1 [Option ID = 969]
2. 2 [Option ID = 970]

3. 3 [Option ID = 971]
4. 4 [Option ID = 972]

44) According to Hegel :
A, War is notto be regarded as-an evil but a virtue.
B. War effectively displays-the “irony of the divine idea”.
C. War destroys the selfish egoism of the individual,
D. The State of War', "shows the omnipotence of the state in its individuality™.
E, Humanity never needed war and the gun is a chance of invention.
Choose the correct answer from the options given below;

1.D, C, Band A only
2.E C Band A only
3.C E Aand Donly
4 C A EandB only



B7TeT o SN -

A 05 @ [l g5 & ©9 H J8) dico U6 9570 @ ©F § §55H] JIieg

8. G% %91 foaR &1 faser - &1 nueEr adis 4 veidid s gl

C. 95 fod =ifed & W 3Eee & P S Bl

D. TG B TR P S U] Jafeaeal o Gy Fdfed HuFal & o2l gl

E, AT &4 95 B4 ¥t 930 6l 81 & SiX §5@ o 956K 0P 9OF 8
i fag 71e famedl & 4 981 9w 9 ;

1, 584D, C B ARA
2. %adE CREHTA
3. %A C EAHARD
4, HEAC A EHNB

[Question ID = 244][Question Description = 144_2_PLS_0OCT22_S52_Q44]
1. 1 [Option ID = 973]
2. 2 [Option ID = 974]
3. 3 [Option ID = 975]
4. 4 [Option ID = 976]

45)  Which of the following are correct?
A, Hannah Areridt - The Post-Moedern Conditions
B. Jacques Derrida - The Post Card
C, Frantz Fanon - The Wretched of the Earth
D. Antonio Gramsd - The Human Condition
Choose the correct answer from the options given below;

1.A and D anly
2. B and Conly
3.Cand D only
4AB CandD

Feftfea g4 smaeia?

A. BAIE 31 - T URE HS- dogd
B, I GG - & U BIS

C. Thes B - § 4es P & 3

D. GEiT=a Ul - € g4 SeiEH
il fgu e fawed| & € w8l g g

1.%a8 A R D
2. FEABARC
3, FHaACARD
448 C3HRD



[Question ID = 245][Question Description = 145_2_PLS_0OCT22_S2_Q45]
1. 1 [Option ID = 977]
2. 2 [Option ID = 978]
3. 3 [Option ID = 979]
4. 4 [Option ID = 980]

46) Which ones are true about the Passive Resistance and Satyagraha?
A, Passive Resistance is equivalent to Satyagraha.
B, Passive Resistance is not afraid of the physical strength while Satyagraha is afraid of physical strepgth.
C. Passive Resistance is negative in praciice whereas Satyagraha is positive morality,

D. Passive Resistance is weapon of the weaker sections, Satyagraha never desires to terrorise the
opponent.

Choose the correct answer from the options given below;

1.A and D anly
2. Aand Benly
3.Cand D only
4.8 and C only

FATSpa UieRiY Ud 9mE & o J FRRkiad § 4 @ 981 8 7

A. [T Uieriy Harie &1 99 &

B. TAT%pE NfeRTY TR fed & HaHId 8l €1 & Sui Foide RIS a0 4 Hg+id eia1 8

c. sy ufaiy SIagR # ARIES &l & Sih GdUE UBRIED Jdasdl o

D. AP Uil SESR &1 B 3754 &, GAWE &1 =G o4l Ui 3R & dfed s T8 sldl &
el TGu e fawed | § w8l S g

1, 69T A 3R D
2. FHaA A AR B
3, FHEACIARD
4, FEABARC

[Question ID = 246][Question Description = 146_2_PLS_0CT22_S2_Q46]
1. 1 [Option ID = 981]
2. 2 [Option ID = 982]
3. 3 [Option ID = 983]
4. 4 [Option ID = 984]



47) Lohia opined:
A, Freedom and bread are inseparable
B, The removal of inequality from human society was one of the seven revolutions
C. If socialism is te be defined in two words then they are equality and prosperity
D. The desire for equality in the modern world has become the desire for being similar and not equal
Choose the correct answer from the options given below;

1..C and D only
2.4 and D only
3.B and D only
4AB CandD

difea #1 3l & :
A, TG TR U e
B, AFG TS © e S e g Sifa H 4 ud o7
C. afe TETE 31 e of eal B &% 8l o 4 Ses 9aHa SR IHiE §
D. AT T H O 9 3551 GeS o @1 55a] @] ¥ o ol & 7 &1 a1 &
474 fau U faeedl 5 9 U8l SR 94
1.ae C IR D
2. @ae A SR D

3, @40 B AR D

4,A B, CHRD
[Question ID = 247][Question Description = 147_2_PLS_0CT22_S2_Q47]
1. 1 [Option ID = 985]
2. 2 [Option ID = 986]

3. 3 [Option ID = 987]
4. 4 [Option ID = 988]

48) Which of the following statements are correct with regard to Aurobindo?
A, He explains 'Nation State’ theory
B. He explains Spiritual Nationalism
C. He'sees Nationalism as a religious aspiration and moral attitude
D. Nation as geographical entity only
E. He never discussed Nationalism
Choose the correct answer froam the options given below;

1.8 and C only
2, Aand Conly
3,8 and D only
4.D and Eonly



IR & Hed H FeEd s H Y s Y el 8 ¢

A. 9 ¥ T Fgid &I SHReTad $1d &

B. 3 MU &® APaTE B ARSAd F%d §

C. d IgaE @ Uife sneiens ud Sfie ey & w9 J 70 ©
D. T Y I A HTIIce Sl A &

E. 3% S+l Wi Tgare & &R J 9l 78 @l

ia e e el | § 98l SR g

1. FAAB SN C
2. FEAAARC
3, HEAB AR D
4, FEAD ARE

[Question ID = 248][Question Description = 148_2_PLS_0CT22_S2_Q48]
1. 1 [Option ID = 989]
2. 2 [Option ID = 990]
3. 3 [Option ID = 991]
4. 4 [Option ID = 992]

49) Which of the following statements are correct with regard to Swami Vivekanand?
A, He was the disciple of Ramakrishna Paramhans
B. In 1893; he proceeded to participate in the Chicago Parliament of Religions
C. He never visited U.S.A.
D. He said that Man is not higher than all animals
E. He was the founder member of the Arya Samaj
Choose the correct answer from the options given below;

1..C and D only
2, Dand E only
3.A and Benly
4 A and Eonly

Wil fadmrHe & ded § Faftiad sy d 9 PH U uei 6 2
A AT PO g & RE Y

8.9 a4 1293 & Rl v 45g 4o & g T
C. d i s 981 T
D.d g & (o #3% | Uzgef 9 4y 81 B
E. d 31T §HIS & SRUS e Y
i feu e fasedt & S O Sw g
1.8a8 C AR D
2. ®Hae D ARE

3, BT AR B
4, HEAAARE



[Question ID = 249][Question Description = 149_2_PLS_0OCT22_S52_Q49]
1. 1 [Option ID = 993]
2. 2 [Option ID = 994]
3. 3 [Option ID = 995]
4. 4 [Option ID = 996]

50) Which of the following principles are correct with regard to liberal democracy?
A, Government by consent
B. Public Accountability
C. Suitable for Socialism
D. Constitutional Government
Choose the correct answer from the options given below;

1.A Band D only
2.A Cand Donly
3.8, Cand D only
4. A Band Conly

SR Timad ® ey Fyiaidd B4 4 [gid 9al 6 7
A. GgHh YR PR

B. Tid WaTagal

C. GHISEIG B SUgE

D. H3YTH® THR

i fgu e fased| 5 € 981 Sw g

1.Had A, B AN D

2. HEAA CIHRD

3, Had B, C 3R D

4, HEAA B AR C
[Question ID = 250][Question Description = 150_2_PLS_0CT22_S2_Q50]
1. 1 [Option ID = 997]
2. 2 [Option ID = 998]

3. 3 [Option ID = 999]
4. 4 [Option ID = 1000]

51)  Which of the following functions should the state perform in the view of Individualist writers?
A, Maintenance of internal law and order
B. To make rules regarding property
C. Protection from foreign aggression
D. To implement such mutual agreements which are legally valid
Choose the correct answer from the options given below;

1.8, Cand D only
2,4, Cand Donly
3.A Band Conly
4. A BandDonly



SUidamars! TE®| ® HaaR HRiEad BF U Yo e @] Huled B3 diiet 7
A, D DI SN Fae] & 80|

B, Hult o dee H g8 g1

c. Taesi s 3 e

D. 39 UPR & URRS GHI! il [ falee €9 4 Y §, I arL ol

el Tou e fased & @ W8l g g

1.$ad B, C AR D
2. FEAA CHRD
3, FAAA BHARC
4, FEAA BARD

[Question ID = 251][Question Description = 151_2_PLS_0CT22_S2_Q51]
1. 1 [Option ID = 1001]
2. 2 [Option ID = 1002]
3. 3 [Option ID = 1003]
4. 4 [Option ID = 1004]

52) Which of the following are correctly matched?
A, International Covenant on Civil and Political Rights - 1966
B, Convention on the Rights of Parsons with Disabilities - 2000
C. Convention on the Rights of Child - 1989
D. Optional Protocol on Economic Social Rights - 2006
Choose the correct answer from the options given below;

1..C and D only
2.4 and Canly
3.A and B only
4 Aand Danly

Ffefead @9 ur e gkt

A, AT T4 U0 USRI U AP THiEa - 1966
B. faaaiT =i Sif¥eR AMHTHY - 2000

C. 19 SR AHEHY -1989

D. 3idfe gmis® @R W 39 e UiciPid - 2006

el Tou e fawed| | § w8l SR g

1. #aq Cc AR D
2, FEAA IRC
3, AT A IR B
4, %ad ARD

[Question ID = 252][Question Description = 152_2_PLS_0CT22_S2_Q52]
1. 1 [Option ID = 1005]
2. 2 [Option ID = 1006]
3. 3 [Option ID = 1007]
4. 4 [Option ID = 1008]



53) Which of the following are correctly matched?
A, International Court of Justice - The Hague
B, W.H.O - London
C. International Criminal Court - Rome
D. IAEA - New York
Choose the correct answer from the options given below;

1.A and B only
2.A and Conly
3.Cand D only
4.8 and D only

fraferen 7 9 & o we g & ;
A, SR e - &

B. 5%, Td, 31, - e

C. IRIPHT SIIfe® <y -39
D. 3%, T.3. 0. - <qadh

47 fou U fgeed| § 9 W5l IR 9

1. AT A IR B
2. FEAAARC
3, &aA CIARD
4, FHEA B AR D

[Question ID = 253][Question Description = 153_2_PLS_0CT22_S2_Q53]
1. 1 [Option ID = 1009]
2. 2 [Option ID = 1010]
3. 3 [Option ID = 1011]
4. 4 [Option ID = 1012]

54) Which of the following are correctly matched?
&, Operation Raahat - Yemen
B. Vande Bharat Missien - Sri Lanka
C. Operation Maitri - Nepal
D. Operation Sukoon - Iraq
Choose the correct answer from the options given below;

1.4 and Conly
2,Band C only
3.8 and D only
4 Aand Boenly



Fafafad 4 8 S el e 4 gHfad & 2
A, HGEH 5T - T

2. He yRa HEF - didsr

C. HHT9eTH 841 - Fure

D. AT G - P

i feu e fasedt & S O Sw g

1.FAAA HRC
2, FAABARC
3, HEA B AN D
4, FHAAA B

[Question ID = 254][Question Description = 154_2_PLS_0OCT22_S2_Q54]
1. 1 [Option ID = 1013]
2. 2 [Option ID = 1014]
3. 3 [Option ID = 1015]
4. 4 [Option ID = 1016]

55) Which of the following are correctly matched?
A, ONGC Videsh - South China Sea
B. War on Terror - GCC
C. Military strength - Elementof national power
D. The Silent Spring - Kenneth Boulding
Choose the correct answer from the options given below;

1.A and B only
2. Aand Conly
3.Cand D only
4. Aand Donly

Frafaied 4 9 11 91 96l gafd & -
A, 31 G S 4T faew - wiEm i TR
B. AP & [0 T - ot 41 T
C. &= e - T Wi & A
D. & HIgTic & - 3y difegn
id fqu ¢ fased| 5 § 9l S g

1. AT A SN E
2. FAAAARC
3, FHaACARD
4, FHaA A AR D

[Question ID = 255][Question Description = 155_2_PLS_0CT22_S2_Q55]
1. 1 [Option ID = 1017]
2. 2 [Option ID = 1018]
3. 3 [Option ID = 1019]
4. 4 [Option ID = 1020]



56) Which of the following are correctly matched
A. Clash of Civilizations - Huntington. S
B, Classical Theory - Gaddis. J
C. The End of History - Fukuyama. F
D. Green Political Theory - Giddens. A
Choose the correct answer from the options given below;

1..C and D only
2.4 and D only
3.A and Conly
4 Aand Benly

Fefofaq f 4 eH o og gafd &

A T A fofaergeEH - B u.
B, Fa®a e - s .

C. T 5 AP % - TSI UF,

D, T iiffewe e - R T

i fau e fasedl 5 S wE I g -

1.$adC ARD
2, FHaA A AR D
3, FAAAHRC
4, FAAA AR B

[Question ID = 256][Question Description = 156_2_PLS_0CT22_S2_Q56]
1. 1 [Option ID = 1021]
2. 2 [Option ID = 1022]
3. 3 [Option ID = 1023]
4. 4 [Option ID = 1024]

57) Which of the following are correctly matched?
A, Fast-Track Diplomacy - Narendra Medi
B. Project Mausam - Rajiv Gandhi
C. Look East Policy - Narasimha Rao
D. Act East Policy - Manmohan Singh
Choose the correct answer from the options given oelow;

1.A and B enly
2.B and D only
3.A and Conly
4, Cand Donly



Fafeied 4 § &1 9 gel gaita 8
A TPRE ¢ [SWIHE! - 3= Hidl
B, Hloiee HIGH - reiid 716l

C. P s gilad] - RIGe1¥d

D. Uae 3% Uiferd! - HHTe fiig

7 fou U fasedl § 8 Wel SR g

1. P A AR B
2, FEAB AR D
3, FAAAARC
4, FIACIARD

[Question ID = 257][Question Description = 157_2_PLS_0CT22_52_Q57]
1. 1 [Option ID = 1025]
2. 2 [Option ID = 1026]
3. 3 [Option ID = 1027]
4. 4 [Option ID = 1028]

58) Which among the following languages are conferred with classical language status?
A, Sanskrit
8. Tamil
C. Kannada
D. Hindi
Choose the correct answer from the options given below;

1.A, B, Cand D
2.4 Band Conly
3.B, Cand D only
4 AandBonly

Frfeae wTenedt & & S w7 U wew S 9w &
A G

B, i

C. &9

D. Rl

id fqu ¢ fased| 5 § 9l S g

1.4, 8, C3RD
2.FaAA BARC
3, HaA B, C AR D
4, FHaA A AR B

[Question ID = 258][Question Description = 158_2_PLS_0CT22_S2_Q58]
1. 1 [Option ID = 1029]
2. 2 [Option ID = 1030]
3. 3 [Option ID = 1031]
4. 4 [Option ID = 1032]



59) Which among the following inter-state water disputes is correctly matched?
A, Cauvery water dispute - Kerala, Tamil Nadu and Karnataka
B. Narmada water dispute - Madhya Pradesh, Rajasthan, Gujarat and Maharashtra
C. Krishna water dispute - Maharashtra, Karnataka and Andhra Pradesh
D. Tungabhadra water dispute - Tamil Nadu and Kerala
Choose the correct answer from the options given below;

1.4 and D only
2.Aand Bonly
3.4 Band Conly
4AB CandD

Frafaian 1 |1 Sfae- Ty & (981 96! &7 4 gHioe 8 7
A, BT ot [9a1G - PR, TG FR SHled

B. THaT S7e 19415 - TA Ul, TSI, ToRId 3R HeRIE

C. B e (9415 - HERIY, Bies A Y UG

D. QTHE] & [aaT% - diHag SR 3R

i few e faped 5 & 98l SR T

1.%ad A AR D

2, FHaA A AR B

3, FAAA BHRC

488 CHRD
[Question ID = 259][Question Description = 159_2_PLS_0CT22_S2_Q59]
1. 1 [Option ID = 1033]
2. 2 [Option ID = 1034]

3. 3 [Option ID = 1035]
4. 4 [Option ID = 1036]

60) Which of the following functions have been laid down in the 12 Schedule of the Constitution of India
for municipalities?

A, Urban poverty alleviation

B, Planning for econemic and social development

C. Roads and Bridges

D. Public safety services

Choose the correct answer from the options given below:

1.A, B Cand D
2.A Band Conly
3.A, Cand D enly
4 AandBonly



Fafeied # 9 @17 9w TR literei gg HRag SiEg @ 124 ogE | afieid § 2
A, IE TRId 3R

B, 3Mi® R gHfe® [Ge™ og a9

C. gs® AR g

D. T® Q& Hare

i fgu e fased| 5 4 48l Sw g

1.4, 8 C3RD
2. FEAABHRC
3, FAAA CHRD
4, FAAA AR B

[Question ID = 260][Question Description = 160_2_PLS_0OCT22_52_Q60]
1. 1 [Option ID = 1037]
2. 2 [Option ID = 1038]
3. 3 [Option ID = 1039]
4. 4 [Option ID = 1040]

61)  Which of the following is/are true?
A, The Election Commission of India conducts elections to staie assemblies
B, The State Election Commission conducts Panchayats' and Municipal Bodiss' elections

C. If there is-any dispute regarding election of the President, decision of the Election Commission would
be final

D. The Election Commission is responsible for Polling, Counting and Declaration of results of the
Election

Choose the correct answer from the options given below;

1.4, Band D only
2.8, Cand D only
3.A B CandD
4 AandBonly

Faffer f e e aA T e/E 7

A. YRE @ (ata a0 e (U 913l & 99 i @l o

B. I15g FAate STaiT dargal ud R giftie] el & gArg Sl S

C. afe Tyufy & 979 & w6 UeR @1 891 gidl © of (afEs S & Hulg i g
D. e 241 HagH, SE10HT Ud 918 URoIE @1 9190 & Hid 3w sl |

4 e e fawed| & & e I 9

1. FaTA BHARD
2, FHad B, C AR D
3.4 8 C3HRD
4, FHaA A AR B



[Question ID = 261][Question Description = 161_2_PLS_0OCT22_52_Q61]
1. 1 [Option ID = 1041]
2. 2 [Option ID = 1042]
3. 3 [Option ID = 1043]
4. 4 [Option ID = 1044]

62) Which of the following are the common compulsory provisions of the 73 and 74" Constitutional
Amendment Act?

A, Five-yearly elections

B. Reservation for Backward Classes

C. Reservation for women

D. Nagar Panchayats

Choose the correct answer from the options given below;

1..B and C only
2. A and D enly
3.4 Band Conly
4. Aand Conly

73 404 74 3 dfay SRneE o & s sifer gudy Fea g9 en a E
A Ugasfa g

8. TU5s T oq HR&M

C, Hieens oq SRam

D. TR 4drad

i fau e fawedl & G W6 I g -

1. @aA B AN C
2. FHaA A R D
3, FHAAA BARC
4, FAAAARC

[Question ID = 262][Question Description = 162_2_PLS_0CT22_S2_Q62]
1. 1 [Option ID = 1045]
2. 2 [Option ID = 1046]
3. 3 [Option ID = 1047]
4. 4 [Option ID = 1048]



63) The rise and growth of the concept of New Public:Administration can be traced to:
A, Honey Report on Higher Education for Public Services'- 1967
B, Minnowbrook Conference |l - 1988
C. Philadelphia Conference on the Theory and Practice of Public Administration - 1967
D. Public Administration in a Time of Turbulenge - 1971
Choose the correct answer from the options given below;

1.8, Cand D only
2.4 Band Conly
3.4 Band Donly
4 A Cand Denly

9 TS B Gbedl o IMH U4 dhg FERiEd § ure &1 of Hodl & ;

A, @i Gareif eq o= e & ufede - 1967

g, FiAig® o9ia 1 1988

C. TR @ 5l Ud SIaeR UR harsiehy] §eer - 1967

D. UieT USa-esH o € o5y 3P eXguiy - 1971 (H=IiTa o0 3 aie u2me )
e U e fasedl | 9 W81 R 9 -

1. $aE B, C 3R D
2. FaAA, BIARC
3, FaAA,BIARD
4,FaAA, CARD

[Question ID = 263][Question Description = 163_2_PLS_0CT22_S2_Q63]
1. 1 [Option ID = 1049]
2. 2 [Option ID = 1050]
3. 3 [Option ID = 1051]
4. 4 [Option ID = 1052]

64) Which of the following are correct about Comparative Public Administration (CPA)?

A. CPA focuses on the structure, process, behaviour, roles and impact of public administrative system at
the international level.

B, Comparative Administrative Group (CAG) was set up in 1963,

C. CAG was funded by American Political Science Association.

D. F.W. Riggs was the chairman of CAG from its inception till the end of 1970.
Choose the correct answer from the options given below:

1.4, 'Cand D only
2.A Band Conly
3.A BandDonly
4. B Cand D only



oI oo HueE ([ 1) @ e J Fefed d e o 9 581 8 2

A TOTHES dle TEIEH AP w1 W die U §1 69, ke, SEeie iEer SR uyE
R Hbf5d g8

B, doHIE® HEIHH® SHE (W ol ) a9 1963 H Tied gl 41|

C. TS WRIEAS GUE SERe] TsHiid fag CEes gR1 famug o

D. U%. S&cy 0 goTetd WeaiFe 9HE & HWs 303 JRY 9 a9 1970 & 3fd 9@ Y1

74 fau U fasedl 5 4 W6l S g4

1.$aA A, CARD
2. FaAA,BIARC
3, PaTA,BIARD
4, FHAAB, C HR D

[Question ID = 264][Question Description = 164_2_PLS_0OCT22_S52_Q64]
1. 1 [Option ID = 1053]
2. 2 [Option ID = 1054]
3. 3 [Option ID = 1055]
4. 4 [Option ID = 1056]

65) Which of the following idea(s)/concept(s} is/are given by Chester Barnard?
A, Acceptance theory of authority and Zone of Indiffererce’
B. Contribution satisfaction equilibrium
C. Functions of the executive
D. Bounded rationality
Choose the correct answer from the options given below;

1.A and B only
2.4 Band Conly
3. A only

4 A BandDonly

Fafofea 5 9 o o fogr / asia =y &9is gRiveH e mar g 7
AMIRIGR @1 WiPid HGid Ud Seri-dl &3

B, JfiEH Uq o

C. BT % g

D. 3@ qegTadl

J feu e e H G W I g

1. AT A AR B
2. FEAABHRC
3, FHaAAA

4, FAAA BARD

[Question ID = 265][Question Description = 165_2_PLS_0CT22_S2_Q65]
1. 1 [Option ID = 1057]
2. 2 [Option ID = 1058]
3. 3 [Option ID = 1059]



4. 4 [Option ID = 1060]

66) Match List | with List 11

List | List II
C. id
Shcepl/ideas Thinker
A, Egalitarian ., J. Rousseau
B. Libertarian II. Jahn Rawls
C. Popular Sovereignty IIl. Robert Nozik
D. Pluralist Theory of Demoaracy IV. Karl Mannheim

Choose the correct answer from the options given below:
TA-NL,B-IV,C-LD-N
AL B-NL,C-LD-WV
ZA-LB-ILC-ULD -V
4. AW EB-LC-IlL DA

T - B3 -1 AR P ;

T -l = -1l
GEAR IR [EEIED

A, HamEE Lo o, gt
B. JERAIG| {1, S5 e
C. T o T i11, I A
Dﬁ' S W 98 "{w.ﬁﬁfi‘ﬁéﬁ
Jid Ru T fade! § 9§ el g

TA-NB-IM,C-|, D-1
ZANB-ILC-I D-IV
3LA-LB-ILC-NIl, D-IV
AA-NVB-LC-1, D=

[Question ID = 266][Question Description = 166_2_PLS_0CT22_S2_Q66]
1. 1 [Option ID = 1061]
2. 2 [Option ID = 1062]
3. 3 [Option ID = 1063]
4. 4 [Option ID = 1064]

67) Match List | with List 11

List | List Il
Books/Works Thinkers

A. Representative Government |. Friedrich Hegel
i;ghc:ur!{nes of the Fhilosophy Of”‘ Johe Stuart KAl
C. The German ldeclogy Il: John Locke

D. Letter o Toleration IV. Karl Marx

Choose the correct answer from ihe options given below:
T.A-ILB-1L,C-1M,D-1
2ZA-N,B-ILE-|LD-IV
LA-LEB-ILC-1,D- 1V
4A-IVB-NL,C-1,D-N



! -1 I 1 -1l H A DI ;

= -1 GEIRl

TS / Fiodr fane

A, Rusiefeg made I TosiRE gl
B. IR A5 ¢ fEaigw; AF T5e I, S e
C. & oA sgfagmarst 111, S T

D. TIET 1T Slengq V. T T
2 fau o fawedt & @ WE SR IR

T.A-ILB-LC-1V;, D-1l
ZA-LB-ILE-I, D-1IV
LA-LB-ULC-1lL D-IV
4AA-IMB-NIILC-1, D-1I

[Question ID = 267][Question Description = 167_2_PLS_0OCT22_52_Q67]

1. 1 [Option ID = 1065]
2. 2 [Option ID = 1066]
3. 3 [Option ID = 1067]
4. 4 [Option ID = 1068]

68)
Match List | with List 1l

Development

List | List II
Book Author
I, Jay Prakash
A, Hindutva IR
Narayan
B. A Plea for the Reconstruction of Indian Polity Il. Sarvarkar
C. Marx, Gandhi and Socialism 1. B. R. Ambedkar
D. Caste in India, Their Mechanism Genesis and .
V. Lahiya

Choose the correct answer from the options given below:

LA-LB-ILE-IV,D-1I
ZA-IMLB-W,C-LD-1
3A-IVB-ILC-L,D-1I
4A-IB-LEC-IV, D- Il




! -1 @l -1 H AT DI ;

@4 -1l
eSSk EEED
|, oG U@

A fege e
E.Qﬁﬁﬁﬁﬁﬂiﬁﬂq&ﬂtﬁmu -

fowmen n, & AR
C. TR, Tl U e -
%@Eﬁa%m,wﬁﬁm,aﬂmm R
Jid Ru T faded! § 9§ el gL

TA-LBE-IILC-IV, D-1I
ZA-NB-IV;C-1, D-1I
LA-IVB-IILE-|, D~
A A-ILB-1LC-1V, D-1ll

[Question ID = 268][Question Description = 168_2_PLS_0CT22_S2_Q68]
1. 1 [Option ID = 1069]
2. 2 [Option ID = 1070]
3. 3 [Option ID = 1071]
4. 4 [Option ID = 1072]

69) Match List | with List 11

List | List Il
Authors
Books
A. Kedourie Elie I. Natichalism Myth and Reality
B. Hans Kohn \l. Mationalism
C. R Muir 11, Nationalism and Internationalism
D. Boyd.C. Shafer V. Nationalism and Liberty

Choaose the correct answer from the options given below:
T.A-LB-NLC-1ILD- IV
ZA-ILB-IN,E€-II,B -]
LA-IVB-ILC-1LD-N
4A-1LB-ILE-IVD-|

T -1 I -1 Ao P ;

LERE -1l

A, SR 3dl I FuEfere iy o3 Nufed

B. 89 ®ied II. = o

C. 3R TR 111, TR U8 Segmleed
D. TGS I, I . ST US famel

¥4 Rt fawed § 9 96 g I

TA-LE-IILC-1l, D-1IV
ZA-ILB-IV -1l B-I
LA-IVB-IILE-|, D~
AA-ILB-NLE-IV, D-|



[Question ID = 269][Question Description = 169_2_PLS_0CT22_52_Q69]
1. 1 [Option ID = 1073]
2. 2 [Option ID = 1074]
3. 3 [Option ID = 1075]
4. 4 [Option ID = 1076]

70)
Match List | with List 11

List | List Il
A Hen

L v I. Man, the State and War
Kissinger
B. Kannet

2 . |l Multiplex Order

Waltz
C. Amitav Wl Traditional Approach to Foreign
Acharya Policy

D. Joseph S. Nye |IV. The Future of Power

Choose the correct answer from the options given below:

T.A-ILB-1C-1Il,D=~|V
2.8-W,B-1,C~1,D-11
LA-NB=,C=I,D=|IV

i -| Dl gl -1 H GHfAd Do -

=T -1 T -1

A B RTR L H9 s RIS AR

B, By dlecH 11, FeeTeiad TSR

. 3iffarg [1), SSIRE U= T Wi giieray
D. W4 E. A IV. & TR 1B UraR

i fgu e faspedl 9 el 9ol gAe

TLA-ILB=-LC=I, D-I
2ZA-INVB-1,C-1I, D=1
3A-NLB=-1,C-Il, D-IV
4A-LB-1LC-1, D-IV

[Question ID = 270][Question Description = 170_2_PLS_0CT22_S2_Q70]
1. 1 [Option ID = 1077]
2. 2 [Option ID = 1078]
3. 3 [Option ID = 1079]
4. 4 [Option ID = 1080]



71)
Match List | with List 11

List |

List Il

A Millenium Development Goals

l. European Recovery

B. Marshall Plan

Il, New International Economic

Order
C. Group of 77 Il Warld Trade Organisation
D.GATT IV. Poverty and Hunger

Choose the correct answer from the options given below:

1.A-IV,B-1,C-1,D-1
ZA-NLB=-IV,C-II,D-
LA-NMB-N,C-l,D-

|
|
|

LA-1L,B-IV,C-I,LD=Il

! - Bl 3 -1 A DI ;

T -l = -1

A, TgdIles 9oy a8 I TG Goed

B, HIIE FieT 11 51S SFOEIPY HTiie saaw]
C.77 998 111, /9% SR Ha

D. 9e IvITaET od @

97 TGU TIE fawed| H § 9] S 9T ;

TLA-IWB-I,C-II, D-1
2ZA-ILB-IV,C-1l, D-1
FA-IVB=I,C-1, D-1
4A-1,B-IV,C-1, D~

[Question ID = 271][Question Description = 171_2_PLS_0OCT22_52_Q71]

1. 1 [Option ID = 1081]
2. 2 [Option ID = 1082]
3. 3 [Option ID = 1083]
4. 4 [Option ID = 1084]

72)
Match List | with List 11

List |

List I

Provisions

Schedules

ScheduledTribes

A. Adminisiration and control of Scheduled Areas and

I. 5% Schedule

B. List of Official Languages

1. 39 5chedule

C. Provision of Lists (Union, State, Concurrent)

1. 7™ Schedule

D. ©ath needs to be made by the Union and State Ministers

V. 8 Schedule

Choose the correct answer from the options given below:

TA-WEB-NLC-1,D-|
ZA-LB-ILC-1,D-IV
3A-LB-ILC- D=V
4A-LB-IV.C-ULD-1




! -1 I 1 -1l H A DI ;

@4 -1l

SuEY ST

A, ST &1 AR Sl IR U= SR FoEn ||, giedt et
B. IS B Tt i1, e Sl
c. Sf! (€9, 77, wwad) @ SuEy g:ﬂ“iﬁ"f Tl
g&ﬂﬁ?@ﬂﬁﬁﬁﬁ?ﬁmaﬁﬁmmmw
g e faded! H ¥ 98l SR g

TA-VM,B-ILC-1l, B-|
2ZA-LE-NLC-1l, D-IV
ZA-LB-ILC-NIl D-IV
4A-L B-IV,C-, B-1l

[Question ID = 272][Question Description = 172_2_PLS_0CT22_S2_Q72]
1. 1 [Option ID = 1085]
2. 2 [Option ID = 1086]
3. 3 [Option ID = 1087]
4. 4 [Option ID = 1088]

73) Match List | with List Il

List | List Il
Author Book
A Francine R, Franks| and MS.A . .
|. The Modernity of Traditions
Raa
B. Rudelph and Rudalph Il. Battles Half -Wan
C. Ashutosh Varshney IIl: The Trajectories of the Indian State
D. Sudipta Kaviraj IV. Dominance and State Pawer in madern Indiad

Choose the correct answer from the options given below:
T.A-W.B-LC-IL,DB-M
2ZA-LB-ILC-1LB-IV
32A-ILB-IV,C-I,D-1
4A-VB-LC-ND-N




! -1 I 1 -1l H A DI ;

= -1 il

A WEA oR Bea 18 3

e . & ArSHeT 3w ¢SieH

B. ¥8IcH US TElch II. S §1P g

C. HATIE qrwig 111, & SolaEIS HI §I5T9 |
IR— Iv. SIETE T8 ®< Uee 39 AeH
¥4 R fawwd § 9 W I

T.A-IM,B-1,C-ll, D-1I
ZA-LB-ILC-1Il, D=1V
SA-ILB-IV,C-1I, -
AA-IV,B-LC-1Il, D-1I

[Question ID = 273][Question Description = 173_2_PLS_0CT22_S2_Q73]
1. 1 [Option ID = 1089]
2. 2 [Option ID = 1090]
3. 3 [Option ID = 1091]
4. 4 [Option ID = 1092]

74) Match List | with List 11

List | List 1l

Stages in the Evolution Duration

A. Principles of Administration I.1938-1947
B. Era of Chalienges II. 1248-1970
C. Politics - Administration dichctomy IIl. 1887-1926
D. Crisis of Identity V. 1927-1937

Choose the correct answer from the options given below:
T.A-ILB-NLE-IV,. B -1
2ZA-IV,B-LC-ILD-N
3A-LB-ILC-M,D-
4.A8-IV,B-LC-Il,D-1N

! - Bl 3 -1 A DI ;

T -l -0

wH e #1 sEwTt arafer

A, VRIS & &g . 1938-1947

B. gHTadl &1 &1 II. 1948-1970
C. A To-wEmG fgHeH i1l 1887-1926
0. U9 & 46 IV. 1927-1837
¥4 R fawed § 9 W I

T.A-ILB-NLC-1IV D-|I
ZA-IVB-LC-1IL, D=1
3A-LB-ILC-IV, D-1II
AA-IV,B-1LC-ll, D-1l

[Question ID = 274][Question Description = 174_2_PLS_0CT22_S2_Q74]
1. 1 [Option ID = 1093]



2. 2 [Option ID = 1094]
3. 3 [Option ID = 1095]
4. 4 [Option ID = 1096]

75) Match List | with List I

List |

List 1l

Name of the Countries

Citizens’ Charter Implemention Years

A. Canada 1. 1883

B. India Il. 1995
C. Malaysia I: 1997
D. France V. 1892

Choaose the correct answer from the options given below:
TA-U,B-ILC-I,D-IV
ZA-ILB-ILE-ID-IV
LA-IVB-LC-LD-N
4A-NM,B-ILE-1,D-1

T -1 I -1 Ao P ;

T -1 T -1l

Ry e arey fraraas ad
A, TS . 1993

B. YRT II. 1995

C. iR f1l. 1967

D. WY IV. 1992

¥4 Rt fawed § 9 96 I

T.A-W;B-ILC-1 B-I
ZA-ILB-NLE-I|, D-1IV
A-IVB-LC-1Il, D-1
AA-IVB-ILE-I, D-1Il

[Question ID = 275][Question Description = 175_2_PLS_0CT22_S2_Q75]

1. 1 [Option ID = 1097]
2. 2 [Option ID = 1098]
3. 3 [Option ID = 1099]
4. 4 [Option ID = 1100]




76) Arranige the following stages of human history given by Karl Marx
A, Slave Society
B. Primitive Society
C. Communist Society
D, Feudal Society
E. Capitalist Society
Choose the correct answer fraom the options given below

ABCDE
B, D EA
B.ADEC
O, C B AE

da WM =

@Ie] HIS g Gl T AFG [ABTH $1 AT i oa e DI :
A, Gl GH

B. ATfGH GH

C. Tregarg] §ETS

D. HH §HS

E. Goilarg] g8

i fqu ¢ fased| | § Hel ST g

ABCDE
B GO EA
B.ADEC
O,CGB AE

B S 6 T L

[Question ID = 276][Question Description = 176_2_PLS_0CT22_S2_Q76]
1. 1 [Option ID = 1101]
2. 2 [Option ID = 1102]
3. 3 [Option ID = 1103]
4. 4 [Option ID = 1104]



77) What is the correct sequencing of these Political Thinkers on the basis of their year of birth
A, Rousseau
B. Machiavelli
C. Locke
D. Aristotle
E Hobbes
Choose the correct answer fraom the options given below

1.0,B.EC A
2ABCDE
3.BCDAE
4 EACED

5 USFla® =R 61 &= gy & 19N 0 Hel SHH F1E 7
A =g

B, A&l

C.di®

D. 3R¥,

E e

il fg 7Te fasedl # & W8l IR 9 -

1.0,B.EC A
2ZABCDE
3.B,CDAE
4EACEBD

[Question ID = 277][Question Description = 177_2_PLS_0CT22_S2_Q77]
1. 1 [Option ID = 1105]
2. 2 [Option ID = 1106]
3. 3 [Option ID = 1107]
4. 4 [Option ID = 1108]

78) Arrange the following books written by B.R. Ambedkar in an ascending order:
A, Castes in India: Their Mechanism, Genesis anid Development
B. The Annihilation of Caste
C. The Problenyof the Rupee: lts Origin and lts Solution
D. Thoughts on Pakistan
Choose the correct answer from the options given below

A CED
ZC, A B D
DA B C
B, DA C

J5 WM —-



d1.31R Spas® BRI [l Fafiea g&is! &1 3R &4 J ouaiyd S ;
A DY 3 3591 2 Aafes, oy 5 Saaude

B. TFEiEH H1F By

C. T WTeH S & = 32 SR US 328 Giegg

D. 472 fH Uifde

i e 71e fawed & & gl S g4

1.8, CB D
2.C 4 BD
3.0,A B C
48,04 C

[Question ID = 278][Question Description = 178_2_PLS_0CT22_S2_Q78]
1. 1 [Option ID = 1109]
2. 2 [Option ID = 1110]
3. 3 [Option ID = 1111]
4. 4 [Option ID = 1112]

79) Arrange the following according to the chronological order
A, Russian-Ukrainian War
B. Russian-Georgian War
C. Euromaidan Revolution
D, Orange Revolution
Choose the correct answer from the options given below

1.0,B.CA
2B CAD
3.0,CBA
4 A CED

Fafoiad & SeeaaR ey Hifag -
A EG- T 05

B, T - Wllodl g5

C. RS NaiegeH

D. HNe RaieggH

i fEu ¢ famed € 4 9 I 9

1.0,B.C A
2B CAD
3.0,CBA
47 CEBD

[Question ID = 279][Question Description = 179_2_PLS_0CT22_S2_Q79]
1. 1 [Option ID = 1113]
2. 2 [Option ID = 1114]
3. 3 [Option ID = 1115]
4. 4 [Option ID = 1116]



80) Arrange the following in the chronological order
A, Lahore Declaration
B. Agra Summit
C. Shimla Accord
D, Indus Water Treaty
Choose the correct answer from the options given below

1.0,4, B, C
2D,CAEB
LA CED
48, CAD

Fafoled & FeeaaR Fad Bifag -
A, TIEIR Uigo

B, HIRI g5

C. Taree gl

D. e iy €fY

d feu e faeedl & G W I E -

1.0,4 B, C

2.0, CAB

3.A,CBED

4B CAD
[Question ID = 280][Question Description = 180_2_PLS_0CT22_S2_Q80]
1. 1 [Option ID = 1117]
2. 2 [Option ID = 1118]

3. 3 [Option ID = 1119]
4. 4 [Option ID = 1120]

81) Arrange the establishment of the following Commissions in chronolegical order
A, National Commission for Women
B. National Commmission for Scheduled Tribes
C. Mational Commission for Protection of Child Rights
D, National Human Rights Commission
Choose the correct answer from the options given below

1.A8DC
2ABCD
3.0,CEA
4. A, DB C



AT ST &1 ®Iu] B BRIGHHER Haidd BIg -
A, BTG HigTT SR

B. TP1T SFIg{ET SSiid S

C. BT ST B G A

D. AP HENUSR ST

dia feu e faeedi § w6 SR g

1.ABDC
2ABCD
3.0,CBA
4 A DB, C

[Question ID = 281][Question Description = 181_2_PLS_0CT22_S2_Q81]
1. 1 [Option ID = 1121]
2. 2 [Option ID = 1122]
3. 3 [Option ID = 1123]
4. 4 [Option ID = 1124]

82) Consider the following movements, Arrange them in chronclogical order
A, Maxalbari Movement
B. Kheda Movement
C. Champaran Movement
D. Khilafat Mevement
Choose the correct answer from the options given below

1.C,B, DA
2ABCD
3.0,CBA
48, CAD

Fafofad sisieHl IR [4gR &3 §U 9 BIaHHITuR aiedd Sl ;
A, TEgTEe] A

B, WST Gl

C. dURY 3figie

D. faened siidier

el U e fawed| | § W8l S g

1.C, B, DA
2ABCD
3.0, CB,A
4B, CAD

[Question ID = 282][Question Description = 182_2_PLS_0CT22_S2_Q82]
1. 1 [Option ID = 1125]
2. 2 [Option ID = 1126]
3. 3 [Option ID = 1127]
4. 4 [Option ID = 1128]



83) Chronoloegically arrange the correct sequence of Committiees constituted for Panchayati Raj in India
A. GV.K. Rao Committee
B. Ashok Mehta Committes
C. Balwantrai Mehta Committee
D, L. M. Singhavi Committee
Chouose the correct answer from the options given below

1.B,4A D C
20,4 BC
3., B AD
4 A CED

HRA H GAEdRIS od Tied SiElddl @ 98l SfwH DI SIoshHIER o4aledd oI ;
A. 51, 91, &, 39 |l

B. €@ Hedl 9

C. gefaeR Hear 9mfg

D. Td, uH, fH9al gt

474 fau U faeedl 5 9 U8l SR 94

1.B,A, D, C
20,4 B C
3.CBAD
4 A CED

[Question ID = 283][Question Description = 183_2_PLS_0CT22_S2_Q83]
1. 1 [Option ID = 1129]
2. 2 [Option ID = 1130]
3. 3 [Option ID = 1131]
4. 4 [Option ID = 1132]

84) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The pilosephy of Integral Humanism belongs to Deendayal Upadhyay

Reason R: Deendayal Upadhyay rejected Communism in which Individualisrn was crushed as part of a
large heartless machine.

In light of the above statements, choose the most appropriate ariswer-from the options-given below

1. Both A and R are correct and R is the correct explanation of A

2, Both A and R are correct but R is NOT the correct explanation of A
3, Ais correct but R is not correct

4. A is not correct but R is correct



Jid el oy QU E ;. Uo @ AHTHEYA (A) IR g8 & ©RY (R) Pel I gl
SUFUF (A) : THTET AFadE & oI 4l G4d SUrEE § S69d 5

BRI (R) : TH G701 SUIHTY - GHGalG ] $diod [ad] g oiad d16 | (920t 8ad [aeH 44 & YA
& U H P 1 ™|

Iulad YA & e 4 Rgifed e # d 9 TR g

1.(A) 3R (R) ST T8 & 4R (R), (A) T & AT &1

2. (A) 3R (R) TH T81 & U3 (R), (&) T T8I AR 76 &
3. (A) T8I & U (R) HE T8l o

4, (A) HeT 961 8 U (R) Tl o

[Question ID = 284][Question Description = 184_2_PLS_0CT22_S2_Q84]
1. 1 [Option ID = 1133]
2. 2 [Option ID = 1134]
3. 3 [Option ID = 1135]
4. 4 [Option ID = 1136]

85) Which among the following are included in Nine Pillars of Digital India:-
A, Infermation for all
B. Early harvest programme
C. Electronic manufacturing
D. Connect only metro cities of the country
Choose the correct answer from the options given below;

1.8, Cand D only
2,4 Cand Donly
3.4 Band Conly
4 A B CandD

g A e A e yd s T enid e Ba e
A, g & e g
B, 9" e dAHH

C. Soaee -
D. G & thae Hel eR| D H1GH H wig
Jd fgu e faeed 3 G e ST g -

1. $aA B, C AR D
2, FAAA CHRD
3, FEAA BARC
47 B C3IRD

[Question ID = 285][Question Description = 185_2_PLS_0OCT22_S52_Q85]
1. 1 [Option ID = 1137]
2. 2 [Option ID = 1138]
3. 3 [Option ID = 1139]
4. 4 [Option ID = 1140]



86) Given below are two statements, one is labelled as Assertion A and the other is labelled a5 Reason R
Assertion A: Hegemony is asystem regulated by a dominant power

Reason R: In realist theory, it refers to the influence, a great power is:able to establish over other states
in the system; ranging from leadership to deminance.

In light of the above statements, choose the most appropriate answer from the options-given below

1. Both A and R are correct and R is the carrect explanation of A

2. Both A and R are carrect but R is NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct

Tl YA QU E : te ol AfHHYH (A) 3R g0 & SR (R) Hl T 8
AfUFYT (A) : TG (SNTH9UGaE) WE 9 a1 [=g9d gone g1

PRT (R) : TUTE ST € 5901 add 5w 9o Ifad BN 3 90 § “gd 4 998 0yd 9@ JoAT
THTE B1G $ T el

e BYA] & S o FHifed faeedl § U W8l I 2 ;

1.(A) 3R (R) &1 W&l § 3R (R), (A) P el SArEH 21

2. (A) 3R (R) TH T8I & U4 (R), (A) I Ha oared e &
3. (A) W61 8 TR (R) TEI 61 51

4, (A) TEI 61 € T (R) B B

[Question ID = 286][Question Description = 186_2_PLS_0OCT22_52_Q86]
1. 1 [Option ID = 1141]
2. 2 [Option ID = 1142]
3. 3 [Option ID = 1143]
4. 4 [Option ID = 1144]

87) Given below are two statements
Statement |: Tagore and Gandhi met for the first time at Shantiniketan
Statement II: Tagore and Gandhi met for first time at Gurukul Kangri
In light of the above statements, choose the correct answer from the options given below

. Both Statement | and Statement |l are true
. Both Statement | and Statement || are false
. Statement | is true but Statement |l is-false

J5 WM =

. Statement | is false but Statement [l is true



gy Rum s

FYT - 1: TR AR T ugell aR Qi = He 4

HYF - 11 ; TR AR 4 Ugell 9R o SIS H Hd 4|
ST DY & HITI® J Fgieiad [9eedl # 4 Hel 9ol 91 -

1.8y | SR I Ea §

2. HYF | AR 1 AT SET B

3. @Y1 T ¢, feg @y 1 3Ea Bl

4 Y| 3TA S, g e TE@ R
[Question ID = 287][Question Description = 187_2_PLS_0OCT22_52_Q87]
1. 1 [Option ID = 1145]
2. 2 [Option ID = 1146]

3. 3 [Option ID = 1147]
4. 4 [Option ID = 1148]

88) Given below are two statements
Statement I The word 'ecology’ is derived from the Greek word oikos.
Statement II: Norwegian philosopher Arne Naess divided ecologism into shallow and deep ecologism.
In light of the above statements, choose the most appropriate ariswer from the options-given below

. Both Statement | and Statement |l are correct
. Both Statement | and Statement |l are incorrect
.Statement | is correct but Statement Il is incorrect

J5 LD M -

. Statement | is incorrect but Statement |l is correct

faci v Rums:

TYA - 1: SHITIG Leg UiD Ueg SHgDIH 4 A 5 |

FYA - 11 T & o2 IR T A9 H UIRRGS e @1 §g! 3R e URRAESEE | Gy [Far g
JUE Y & H1EP H FEfeiad Gl H § Wel 9w I -

1.9 | HR 1 EF TRl gl
2. @Y | 3R I GH A B
3. @Y | ¥el ¢, fog @4 1| TEd B
4, ®YF 1A €, [ PYF 1| B8l B

[Question ID = 288][Question Description = 188_2_PLS_0CT22_S2_Q88]
1. 1 [Option ID = 1149]
2. 2 [Option ID = 1150]
3. 3 [Option ID = 1151]
4. 4 [Option ID = 1152]



89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Thomas lefferson was determined not to remove public officials for political reasons alone.

Reason R: Malconduct is a just ground for removal of public officials.

In light of the above statements, choose the most appropriate answer from the options-given below

1. Both A and R are correct and R is the carrect explanation of A

2. Both A and R are carrect but R is NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct

Tl YA QU E : te ol AfHHYH (A) 3R g0 & SR (R) Hl T 8

HFHFUT () : YTHY SBT3 910 W Ao ¥ [ Baq Aerlias SR § WeR] SHdidl @] JaHd
ol foar S|

FRUT (R) : TR & GLBN] HHANNG! Pl GGy H- & U G HMUR 8
e BYA] & S o FHifed faeedl § U W8l I 2 ;

1. (A) 3 (R) T W61 & 3 (R), (A) 1 ¥l ATAT 5

2. (A) R (R) GHI T81 & 93 (R), (A) B Hal R e &

3. (A) TE1 8 U (R) TR TRI B
4, (A) el 761 € T (R) TR1 B

[Question ID = 289][Question Description = 189_2_PLS_0OCT22_52_Q89]
1. 1 [Option ID = 1153]
2. 2 [Option ID = 1154]
3. 3 [Option ID = 1155]
4. 4 [Option ID = 1156]

90) Given below are two statements
Statement |: Power is an instrument of coercion and has a physical effect.
Statement II: Power could as well be based on consent and yet be more effective.
In light of the above statements, choose the correct answer from the options given below

. Both Statement | and Statement |l are true
. Both Statement | and Statement || are false
. Statement | is true but Statement |l is-false

J5 WM =

. Statement | is false but Statement [l is true



EIER I AR S

BY - | : Gl HUISH & U JUH0| & AR g9H] Hilde UHE g

FUT - 11 : Tl GeHId U2 U1 e & araeg Hi R 5@ gHid] 8l o
SUUE BYA| & AP & FEead (w3 9 vl Su g -

1.0 | 3R 1 GHI ST 8

2. WY | 3R 1 GF AT B

3. B 9 &, g FY 1| ST B
4, Y| HEd g, g oY | TE B

[Question ID = 290][Question Description = 190_2_PLS_0OCT22_52_Q90]
1. 1 [Option ID = 1157]
2. 2 [Option ID = 1158]
3. 3 [Option ID = 1159]
4. 4 [Option ID = 1160]

Topic:- 002_SH1_PARTB_S2

1)

Read the passage and answer the five questions that follow

As per Census:2011, literacy rate of India is 74.04% wherein rate of male literacy is'82.14% and female
literacy rate is 65.46%. Government approved a new scheme known as New India Literacy Programme
of Adult Education for the period of Financial Years 2022-2027. As s progressive step, the present
government has: decided that the term “Adult Education” be replaced with “Education For All", The
objectives of the scheme are to impart foundational literacy and numeracy along with the other
components which are necessary for a citizen of the 21% century. The scheme will be implemented
through online mode and with volunteerism, As per Census 2011, the abselute number of non-literates
of the country at the age of 15 years and above age group is 25.76 crore wherein females-are 1668
crore. This-scheme will cover non-literates of the age of 15 years and above in all State/UTs in the
country, The target for Foundational Literacy and Numeracy for Financial Years:2022-27 is @ 1.00 crore
per year by using "Online Teaching, Learning and Assesment System™ in collaboration with NIC, NCERT
and NIOS through registration with Adhar and mobile number, In this scheme, priority will be given to
the girls and women, SC/ST/OBC/Minorities, Parsons with Special Needs (Divyangjans), Marginalized/
Nemadic/ Construction workers/ laborers' etc., those who can substantially and immediately benefit
from adult education. Area wise focus shall be on all aspirational districts of NITI Aayog, districts with
literacy rate less than the National /State average, districts with female literacy rates less than 60%, as-
per the 2011 Census. School will be Unit for implementation of the scheme and far conducting survey
of beneficiaries and Voluntary Teachers. The estimated total outlay of "New India Literacy Programme”
is Rs.1037.90 crore which includes Central share of Rs.700 crore and rest of the amount will be shared
by the states for the financial years 2022-27.

As per the 2011 census, the abselute number of male nen-literates of the country at the age of 15 year

arid above is

1.9.80 crore
2.8.90 crare
3. 8.09 craore
4, 9.08 crore



ot T 1 fed offt 97 W TuTied UT9 WHl & S dien :

SFRIOAET 2011 © TSR HRA B GI&RA1 G 74.04% © o9 U350 TIERAI oY 82.14% IR Hled 9iaRal @)
6546% 8| HIDR - [auig a4 2022-2027 & [o¢ Wi RI&T 5q 7d HRG HI&Rd SRHH & A1 4 HiHied
T 4] Tia1 Widd (4] § | U6 Wiiaeie ®ed & ¥4 5, gaAH War 1 "HIg [ g $1 9 & fog
e gg 3 ufeenfaa o577 @1 Bgal 59 & | 9O IRe WeRT AR O l ((GEea)) S 21 9 I &
gl AMive & 00 HE9a® 3 9eh| & 9iU-a1y UaH S 4i9F] & 3530 ¢ | die-] @Y 9a/aiG &
1Y HesA TIe= o AEH § Sar-ad g1 | S-FI0FET 2011 & 3IER, 15 T4 & A1g 3R I8 HW @I
T T & 100 o9 & TR-TIERT @1 HRU& U8AT 25.76 BRUS ¢ roud Aleall 16.60 BUS 6| T8 el oF
& o /b ERITd UGN F 15 94 IR IUY ST @1 I & TN-TER] B ATBiad HON | AER AR
Higigd S8 & 914 Yeiig- & H1H Y U 318 O, T4 9 § AR 2 SR U 1S Al 09 & 9ediT § Sl
firero, T, a®e Ui @1 3UUNT &7 [a0ig a4 2022-2027 & 08 §-81G We 9I8dl AR 9=
(HeE) BT a8 Wia 8Y U BAIS ¢ 59 dieHT | ersiedr SR AfRd, UH 9 /TE ¢ /30 | 4 serHee,
eaiTerl, sif¥e W AEE/ FEvE sded)/4He sdie ol ayibdar 41 Sie, i e e Rien
Uit aiich 3 diepliad & § arHli=ad 6] Gad o A A0 & G e forel, I/ 21gd 9
T GIARTT G2 aTe faell, 2011 B SFIUFT § AR, 60 UORE § &9 Hiear WaRal o ai foel )
§FER S © o 5 S gieET & feearaga SiR el SR Wisie Aes! & gasT gared
T o [dgey @S oRill [a0g a8 2022-27 @ fO€ 'A9 YA SR SUHH" 5q Td@iod gieag
1037.90 TS TUT & Forad S o7 O f6u 91 aren fo=am 700 T3S $UT 3R 9191 S 4RI I gRl
I & S

ST 2011 & HTER, 15 T4 iR ST SR $1 1Y a0 6F & TR-T1ER Toul 31 FRus TE=I E -
1.9.80 TS
2,890 RIS
3,809 WIS
4, 908G

[Question ID = 291][Question Description = 191_2_PLS_0CT22_S2_Q91]
1. 1 [Option ID = 1161]
2. 2 [Option ID = 1162]
3. 3 [Option ID = 1163]
4. 4 [Option ID = 1164]



2)

Read the passage and answer the five questions that follow

As per Census 2011, literacy rate of India is 74.04% wherein rate of male literacy is 82.14% and female
literacy rateis 6546%. Government approved a new scheme known as New India Literacy Programme
of Adult Education for the period of Financial Years 2022-2027, As a progressive step, the present
government has: decided that the term "Adult Education” be replaced with “Education For All". The
objectives of the scheme are to impart foundational literacy and numeracy along with the other
components which are necessary for a citizen of the 21% century. The scheme will be implemented
through online mode and with volunteerism. As per Census 2011, the abseluts number of non-literates
of the country at the age of 15 years and above age group is 25.76 crore wherein females are 16.68
crore. This-scheme will cover non-literates of the age of 15 years and above in all State/UTs in the
country, The target for Foundational Literacy and Numeracy for Financial Years:2022-27 is @ 1.00 crore
per year by using "Online Teaching, Learning and Assesment System” in collaboration with NIC, NCERT
and NIOS through registration with Adhar and miobile number. In this scheme, priority will be given to
the girls and women, SC/ST/OBC/Minorities, Persons with Spedal Needs (Divyangjans), Marginalized/
Nemadic/ Construction workers/ laborers ete, those who can substantially and immediately benefit
from adult education. Area wise focus shall be on all aspirational districts of NITI Aayog, districts with
literacy rate less than the National /State average, districts with female literacy rates less than 60%, as-
per the 2011 Census. School will be Unit for implementation of the scheme and for conducting survey
of beneficiaries and Voluntary Teachers. The estimated total outlay of "New India Literacy Programme”
is-Rs.1037.90 crore which includes Central share of Rs.700 crore and rest of the amount will be shared
by the states for the financial years 2022-27.

In hew many years the target for Foundational literacy and Numeracy of 5 crore be completed?

1.3 years
2,4 years
3.5 years
4,6 years



ot T 1 fed offt 97 W TuTied UT9 WHl & S dien :

SFRIOAET 2011 © TSR HRA B GI&RA1 G 74.04% © o9 U350 TIERAI oY 82.14% IR Hled 9iaRal @)
6546% 8| HIDR - [auig a4 2022-2027 & [o¢ Wi RI&T 5q 7d HRG HI&Rd SRHH & A1 4 HiHied
T 4] Tia1 Widd (4] § | U6 Wiiaeie ®ed & ¥4 5, gaAH War 1 "HIg [ g $1 9 & fog
e gg 3 ufeenfaa o577 @1 Bgal 59 & | 9O IRe WeRT AR O l ((GEea)) S 21 9 I &
gl AMive & 00 HE9a® 3 9eh| & 9iU-a1y UaH S 4i9F] & 3530 ¢ | die-] @Y 9a/aiG &
1Y HesA TIe= o AEH § Sar-ad g1 | S-FI0FET 2011 & 3IER, 15 T4 & A1g 3R I8 HW @I
T T & 100 o9 & TR-TIERT @1 HRU& U8AT 25.76 BRUS ¢ roud Aleall 16.60 BUS 6| T8 el oF
& o /b ERITd UGN F 15 94 IR IUY ST @1 I & TN-TER] B ATBiad HON | AER AR
Higigd S8 & 914 Yeiig- & H1H Y U 318 O, T4 9 § AR 2 SR U 1S Al 09 & 9ediT § Sl
firero, T, a®e Ui @1 3UUNT &7 [a0ig a4 2022-2027 & 08 §-81G We 9I8dl AR 9=
(HeE) BT a8 Wia 8Y U BAIS ¢ 59 dieHT | ersiedr SR AfRd, UH 9 /TE ¢ /30 | 4 serHee,
eaiTerl, sif¥e W AEE/ FEvE sded)/4He sdie ol ayibdar 41 Sie, i e e Rien
Uit aiich 3 diepliad & § arHli=ad 6] Gad o A A0 & G e forel, I/ 21gd 9
T GIARTT G2 aTe faell, 2011 B SFIUFT § AR, 60 UORE § &9 Hiear WaRal o ai foel )
§FER S © o 5 S gieET & feearaga SiR el SR Wisie Aes! & gasT gared
T o [dgey @S oRill [a0g a8 2022-27 @ fO€ 'A9 YA SR SUHH" 5q Td@iod gieag
1037.90 TS TUT & Forad S o7 O f6u 91 aren fo=am 700 T3S $UT 3R 9191 S 4RI I gRl
I & S

AAEURE TSRl AR B ([FRE]) & 5 PUS & 05 D (o a81 = gul (g1 o Yl ¢ 7

1.394
2,494
3,594
4,674

[Question ID = 292][Question Description = 192_2_PLS_0CT22_52_Q92]
1. 1 [Option ID = 1165]
2. 2 [Option ID = 1166]
3. 3 [Option ID = 1167]
4. 4 [Option ID = 1168]



3)

Read the passage and answer the five questions that follow

As per Census 2011, literacy rate of India is 74.04% wherein rate of male literacy is 82.14% and female
literacy rateis 6546%. Government approved a new scheme known as New India Literacy Programme
of Adult Education for the period of Financial Years 2022-2027, As a progressive step, the present
government has: decided that the term "Adult Education” be replaced with “Education For All". The
objectives of the scheme are to impart foundational literacy and numeracy along with the other
components which are necessary for a citizen of the 21% century. The scheme will be implemented
through online mode and with volunteerism. As per Census 2011, the abseluts number of non-literates
of the country at the age of 15 years and above age group is 25.76 crore wherein females are 16.68
crore. This-scheme will cover non-literates of the age of 15 years and above in all State/UTs in the
country, The target for Foundational Literacy and Numeracy for Financial Years:2022-27 is @ 1.00 crore
per year by using "Online Teaching, Learning and Assesment System” in collaboration with NIC, NCERT
and NIOS through registration with Adhar and miobile number. In this scheme, priority will be given to
the girls and women, SC/ST/OBC/Minorities, Persons with Spedal Needs (Divyangjans), Marginalized/
Nemadic/ Construction workers/ laborers ete, those who can substantially and immediately benefit
from adult education. Area wise focus shall be on all aspirational districts of NITI Aayog, districts with
literacy rate less than the National /State average, districts with female literacy rates less than 60%, as-
per the 2011 Census. School will be Unit for implementation of the scheme and for conducting survey
of beneficiaries and Voluntary Teachers. The estimated total outlay of "New India Literacy Programme”
is Rs.1037.20 crore which includes Central share of Rs.700 crore and rest of the amount will be shared
by the states for the financial years:2022-27.

Which will be the unit for conducting survey for beneficiaries and voluntary teachers?

1. School
2, Family

3, Village
4, District



ot T 1 fed offt 97 W TuTied UT9 WHl & S dien :

SFRIOAET 2011 © TSR HRA B GI&RA1 G 74.04% © o9 U350 TIERAI oY 82.14% IR Hled 9iaRal @)
6546% 8| HIDR - [auig a4 2022-2027 & [o¢ Wi RI&T 5q 7d HRG HI&Rd SRHH & A1 4 HiHied
T 4] Tia1 Widd (4] § | U6 Wiiaeie ®ed & ¥4 5, gaAH War 1 "HIg [ g $1 9 & fog
e gg 3 ufeenfaa o577 @1 Bgal 59 & | 9O IRe WeRT AR O l ((GEea)) S 21 9 I &
gl AMive & 00 HE9a® 3 9eh| & 9iU-a1y UaH S 4i9F] & 3530 ¢ | die-] @Y 9a/aiG &
1Y HesA TIe= o AEH § Sar-ad g1 | S-FI0FET 2011 & 3IER, 15 T4 & A1g 3R I8 HW @I
T T & 100 o9 & TR-TIERT @1 HRU& U8AT 25.76 BRUS ¢ roud Aleall 16.60 BUS 6| T8 el oF
& o /b ERITd UGN F 15 94 IR IUY ST @1 I & TN-TER] B ATBiad HON | AER AR
Higigd S8 & 914 Yeiig- & H1H Y U 318 O, T4 9 § AR 2 SR U 1S Al 09 & 9ediT § Sl
firero, T, a®e Ui @1 3UUNT &7 [a0ig a4 2022-2027 & 08 §-81G We 9I8dl AR 9=
(HeE) BT a8 Wia 8Y U BAIS ¢ 59 dieHT | ersiedr SR AfRd, UH 9 /TE ¢ /30 | 4 serHee,
eaiTerl, sif¥e W AEE/ FEvE sded)/4He sdie ol ayibdar 41 Sie, i e e Rien
Uit aiich 3 diepliad & § arHli=ad 6] Gad o A A0 & G e forel, I/ 21gd 9
T GIARTT G2 aTe faell, 2011 B SFIUFT § AR, 60 UORE § &9 Hiear WaRal o ai foel )
§FER S © o 5 S gieET & feearaga SiR el SR Wisie Aes! & gasT gared
T o [dgey @S oRill [a0g a8 2022-27 @ fO€ 'A9 YA SR SUHH" 5q Td@iod gieag
1037.90 TS TUT & Forad S o7 O f6u 91 aren fo=am 700 T3S $UT 3R 9191 S 4RI I gRl
I & S

I SN Sfese SIS &g TaE SaIid B39 & 70 $H-U1 T g el 2
1, fagme
2. 9EaR
3,7Mg
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[Question ID = 293][Question Description = 193_2_PLS_0CT22_S2_Q93]
1. 1 [Option ID = 1169]
2. 2 [Option ID = 1170]
3. 3 [Option ID = 1171]
4. 4 [Option ID = 1172]



4)

Read the passage and answer the five questions that follow

As per Census 2011, literacy rate of India is 74.04% wherein rate of male literacy is 82.14% and female
literacy rateis 6546%. Government approved a new scheme known as New India Literacy Programme
of Adult Education for the period of Financial Years 2022-2027, As a progressive step, the present
government has: decided that the term "Adult Education” be replaced with “Education For All". The
objectives of the scheme are to impart foundational literacy and numeracy along with the other
components which are necessary for a citizen of the 21% century. The scheme will be implemented
through online mode and with volunteerism. As per Census 2011, the abseluts number of non-literates
of the country at the age of 15 years and above age group is 25.76 crore wherein females are 16.68
crore. This-scheme will cover non-literates of the age of 15 years and above in all State/UTs in the
country, The target for Foundational Literacy and Numeracy for Financial Years:2022-27 is @ 1.00 crore
per year by using "Online Teaching, Learning and Assesment System” in collaboration with NIC, NCERT
and NIOS through registration with Adhar and miobile number. In this scheme, priority will be given to
the girls and women, SC/ST/OBC/Minorities, Persons with Spedal Needs (Divyangjans), Marginalized/
Nemadic/ Construction workers/ laborers ete, those who can substantially and immediately benefit
from adult education. Area wise focus shall be on all aspirational districts of NITI Aayog, districts with
literacy rate less than the National /State average, districts with female literacy rates less than 60%, as-
per the 2011 Census. School will be Unit for implementation of the scheme and for conducting survey
of beneficiaries and Voluntary Teachers. The estimated total outlay of "New India Literacy Programme”
is-Rs.1037.90 crore which includes Central share of Rs.700 crore and rest of the amount will be shared
by the states for the financial years 2022-27.

What age group is included under this scheme?

1. Non-literates of the age of 05 years and above
2. Non-literates of the age of 15 years and above
3. Non-literates of the age of 25 years and above
4. Non-literates of the age of 35 years and above
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SFRTOMET 2011 @ SEHR HRA @1 HIERA1 G 74.04% & [o79H G908 GI&RA1 G 82.14% 3R Alga HI&Rdl a2
6546% 8| HNDR - [a0ig a4 2022-2027 & [o¢ Wi RI&T 8q 79 HRG HI&R SRHH & A1 4 HiHied
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R T & 100 oF & TR-WIER]T @1 UG G981 25.76 BRS¢ roud Aleall 16.60 B 6| T8 Fra-l oF
& T T /BERITd WGl 4 15 98 IR I6Y ST B G & TN-TERI B ATBlad SOl YR AR
Hiaed He & I/ Ui & GiEH § U9 375 O, T 91 3 R 3 S U9 1% 3 09 @ 9eanT 9 S
e, AT, aHes Ui @1 3UUNT &7 [ag a4 2022-2027 & 00 901G e 98l AR 91
(gHYE) BT a8 Wid Y U BAIs ¢ 59 dieHT H asioedr SR Afed, UH 9 /TE ¢ /3 | 4 sieqHee,
Geairerl, SR W AEE/ FavE s/ 4He sdie ol uyibear 41 e, =i e die @ien
Uit aiich 3R dienlicd & § arHli=ad 8] Gaod © A AT & G eian forel, A/ 21gd 9
T TIARTT GF 919 fwell, 2011 B SUHT & SR, 60 WORE § &9 Hiear WaRal oF ai foel i)
§FaR S € o 3 S gieeT & feearags SR el iR Wisie Hes! & gasT gard
T3 od [aaed s®is el ARG 99 2022-27 & FIT 99 YRd TRl @09 ©d Ta@iod gNedg
1037.50 DS TUT & (o194 g o T a1 S 9Iel [o¥d] 700 IS TUT IR 1! BT 4RI 541 gRT
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[Question ID = 294][Question Description = 194_2_PLS_0CT22_S2_Q94]
1. 1 [Option ID = 1173]
2. 2 [Option ID = 1174]
3. 3 [Option ID = 1175]
4. 4 [Option ID = 1176]



5)

Read the passage and answer the five questions that follow

As per Census 2011, literacy rate of India is 74.04% wherein rate of male literacy is 82.14% and female
literacy rateis 6546%. Government approved a new scheme known as New India Literacy Programme
of Adult Education for the period of Financial Years 2022-2027, As a progressive step, the present
government has: decided that the term "Adult Education” be replaced with “Education For All". The
objectives of the scheme are to impart foundational literacy and numeracy along with the other
components which are necessary for a citizen of the 21% century. The scheme will be implemented
through online mode and with volunteerism. As per Census 2011, the abseluts number of non-literates
of the country at the age of 15 years and above age group is 25.76 crore wherein females are 16.68
crore. This-scheme will cover non-literates of the age of 15 years and above in all State/UTs in the
country, The target for Foundational Literacy and Numeracy for Financial Years:2022-27 is @ 1.00 crore
per year by using "Online Teaching, Learning and Assesment System” in collaboration with NIC, NCERT
and NIOS through registration with Adhar and miobile number. In this scheme, priority will be given to
the girls and women, SC/ST/OBC/Minorities, Persons with Spedal Needs (Divyangjans), Marginalized/
Nemadic/ Construction workers/ laborers ete, those who can substantially and immediately benefit
from adult education. Area wise focus shall be on all aspirational districts of NITI Aayog, districts with
literacy rate less than the National /State average, districts with female literacy rates less than 60%, as-
per the 2011 Census. School will be Unit for implementation of the scheme and for conducting survey
of beneficiaries and Voluntary Teachers. The estimated total outlay of "New India Literacy Programme”
is-Rs.1037.90 crore which includes Central share of Rs.700 crore and rest of the amount will be shared
by the states for the financial years 2022-27.

What amount will be shared by the states in this scheme?

1. Rs.327.90 crore
2, Rs.700.00 crore
3. Rs.1037.90 crore
4 Rs337.90 crore



ot T 1 fed offY 97 R ATUTied UT WH & S dien :

SFRTOMET 2011 @ SEHR HRA @1 HIERA1 G 74.04% & [o79H G908 GI&RA1 G 82.14% 3R Alga HI&Rdl a2
6546% 8| HNDR - [a0ig a4 2022-2027 & [o¢ Wi RI&T 8q 79 HRG HI&R SRHH & A1 4 HiHied
TS 4] T Widd (4] § | U6 Wiiaeie ®ed & ¥4 5, gaaH WeR 1 "Hig & g 91 94 & o
e gg ¥ uieiiad &=+ @1 Byl 59 § | 9816 e WER HIR el ((GEd)) § 21 o il &
& e & Y Jews 3= 9oa! &l 9M-9Y UaH &3 39 & 3530 & dis- @ U9EG &
WY HAeTe TEH & 71 & fearag gRT| S0 2011 & 38R, 15 99 31 A1 R SUd $W @
R T & 100 oF & TR-WIER]T @1 UG G981 25.76 BRS¢ roud Aleall 16.60 B 6| T8 Fra-l oF
& T T /BERITd WGl 4 15 98 IR I6Y ST B G & TN-TERI B ATBlad SOl YR AR
Hiaed He & I/ Ui & GiEH § U9 375 O, T 91 3 R 3 S U9 1% 3 09 @ 9eanT 9 S
e, AT, aHes Ui @1 3UUNT &7 [ag a4 2022-2027 & 00 901G e 98l AR 91
(gHYE) BT a8 Wid Y U BAIs ¢ 59 dieHT H asioedr SR Afed, UH 9 /TE ¢ /3 | 4 sieqHee,
Geairerl, SR W AEE/ FavE s/ 4He sdie ol uyibear 41 e, =i e die @ien
Uit aiich 3R dienlicd & § arHli=ad 8] Gaod © A AT & G eian forel, A/ 21gd 9
T TIARTT GF 919 fwell, 2011 B SUHT & SR, 60 WORE § &9 Hiear WaRal oF ai foel i)
§FaR S € o 3 S gieeT & feearags SR el iR Wisie Hes! & gasT gard
T3 od [aaed s®is el ARG 99 2022-27 & FIT 99 YRd TRl @09 ©d Ta@iod gNedg
1037.50 DS TUT & (o194 g o T a1 S 9Iel [o¥d] 700 IS TUT IR 1! BT 4RI 541 gRT
R E A e

G i1 H fant SITRT ol ST I &1 Sa 7
1,327.90 FRIS ¥
2,700.00 TS $9C
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[Question ID = 295][Question Description = 195_2_PLS_0CT22_S2_Q95]
1. 1 [Option ID = 1177]
2. 2 [Option ID = 1178]
3. 3 [Option ID = 1179]
4. 4 [Option ID = 1180]

Topic:- 002_SH1_PARTC_S2



1)

Read the given passage and answer the five questions that follow:

Political theory is the study of Political ideas and values like Justice, Power and Democracy that we use
to describe, understand and assess political practices and institutions. Palitical Theory occupies a place
of preeminence in the domain of political science. |ts: develepment is closely intertwined with man's
quest for good life, Political theory deals with the conditions of collective life. It provides a system of
rule to guide social relationship on one hand and studies the evolution, nature, necessity and purpose
of government, on the other hand. |t tries to relate them with human perception and nature; as such it
tries to evolve a framework for analyzing man's political concerns and evolving a mechanism to solve
these problems.it must be noted that most of the theories came cut in the midst of crisis, wherein they
attempted to solve the problems, However, in their quest to address immediate problems, they engage
with perennial issues as well.

They are not limited or context bound. Instead their focus is often wide enough to cover world at
large. Political theory outlines a conceptual framework by which knowledge is synthesized. Different
theories have different sort of connection with the concepts. As such, differences arises in the kind of
problem they think to be of more sericus nature and consequently differences arise also in prescribing
the remedies: Hence, they enjoin both empirical and ethical statements, This-has been best illustrated
by A. Hacker; it is "dispassionate and disinterested” as science, it describes: political reality without
trying to pass judgement on what is being depicted either implicitly or explicitly. As philosophy, it
prescribes rules of conduct which will secure the goed life for all of society and not simply for ‘certain’
individual or classes.

The study of political theory is important because it allows us to examine the complex nature of
political pewer. By studying political theary we can examine the benefits and disadvantages of different
political systems.

Political Theory deals with:

1. Only Ethical Terms

2, Only Scientific Terms

3, Cultural Terms

4, Philosophical and Empirical Terms
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2)

Read the given passage and answer the five questions that follow:

Political theory is the study of Political ideas and values like Justice, Power and Democracy that we use
to describe, understand and assess political practices and institutions. Palitical Theory occupies a place
of preeminence in the domain of political science. |ts: develepment is closely intertwined with man's
quest for good life, Political theory deals with the conditions of collective life. It provides a system of
rule to guide social relationship on one hand and studies the evolution, nature, necessity and purpose
of government, on the other hand. |t tries to relate them with human perception and nature; as such it
tries to evolve a framework for analyzing man's political concerns and evolving a mechanism to solve
these problems.it must be noted that most of the theories came cut in the midst of crisis, wherein they
attempted to solve the problems, However, in their quest to address immediate problems, they engage
with perennial issues as well.

They are not limited or context bound. Instead their focus is often wide enough to cover world at
large. Political theory outlines a conceptual framework by which knowledge is synthesized. Different
theories have different sort of connection with the concepts. As such, differences arises in the kind of
problem they think to be of more sericus nature and consequently differences arise also in prescribing
the remedies: Hence, they enjoin both empirical and ethical statements, This-has been best illustrated
by A. Hacker; it is "dispassionate and disinterested” as science, it describes: political reality without
trying to pass judgement on what is being depicted either implicitly or explicitly. As philosophy, it
prescribes rules of conduct which will secure the goed life for all of society and not simply for ‘certain’
individual or classes.

The study of political theory is important because it allows us to examine the complex nature of
political pewer. By studying political theary we can examine the benefits and disadvantages of different
political systems.

Which of the following is NOT related to political theory?

1. it studies values of society

2, It studies political reality

3, It examines advantages of political system

4, It does not study relationship of concepts and Political Theory
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3)

Read the given passage and answer the five questions that follow:

Political theory is the study of Political ideas and values like Justice, Power and Democracy that we use
to describe, understand and assess political practices and institutions. Palitical Theory occupies a place
of preeminence in the domain of political science. |ts: develepment is closely intertwined with man's
quest for good life, Political theory deals with the conditions of collective life. It provides a system of
rule to guide social relationship on one hand and studies the evolution, nature, necessity and purpose
of government, on the other hand. |t tries to relate them with human perception and nature; as such it
tries to evolve a framework for analyzing man's political concerns and evolving a mechanism to solve
these problems.it must be noted that most of the theories came cut in the midst of crisis, wherein they
attempted to solve the problems, However, in their quest to address immediate problems, they engage
with perennial issues as well.

They are not limited or context bound. Instead their focus is often wide enough to cover world at
large. Political theory outlines a conceptual framework by which knowledge is synthesized. Different
theories have different sort of connection with the concepts. As such, differences arises in the kind of
problem they think to be of more sericus nature and consequently differences arise also in prescribing
the remedies: Hence, they enjoin both empirical and ethical statements, This-has been best illustrated
by A. Hacker; it is "dispassionate and disinterested” as science, it describes: political reality without
trying to pass judgement on what is being depicted either implicitly or explicitly. As philosophy, it
prescribes rules of conduct which will secure the goed life for all of society and not simply for ‘certain’
individual or classes.

The study of political theory is important because it allows us to examine the complex nature of
political pewer. By studying political theary we can examine the benefits and disadvantages of different
political systems.

Which one of the following is correct about Political Theory?

1. Political Theory works only within the boundaries of a particular country.
2, Political Theory is a generalized statement about Political life.

3, Political Theory never depends on concepts,

4, Political Theory is a pure science only,
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4)

Read the given passage and answer the five questions that follow:

Political theory is the study of Political ideas and values like Justice, Power and Democracy that we use
to describe, understand and assess political practices and institutions. Palitical Theory occupies a place
of preeminence in the domain of political science. lts: development is closely intertwined with man's
quest for good life, Political theory deals with the conditions of collective life. It provides a system of
rule to guide social relationship on one hand and studies the evolution, nature, necessity and purpose
of government, on the other hand. |t tries to relate them with human perception and nature; as such it
tries to evolve a framework for analyzing man's political concerns and evolving a mechanism to solve
these problems.it must be noted that most of the theories came cut in the midst of crisis, wherein they
attempted to solve the problems, However, in their quest to address immediate problems, they engage
with perennial issues as well.

They are not limited or context bound. Instead their focus is often wide enough to cover world at
large. Political theory outlines a conceptual framework by which knowledge is synthesized. Different
theories have different sort of connection with the concepts. As such, differences arises in the kind of
problem they think to be of more sericus nature and consequently differences arise also in prescribing
the remedies: Hence, they enjoin both empirical and ethical statements, This-has been best illustrated
by A. Hacker; it is "dispassionate and disinterested” as science, it describes political reality without
trying to pass judgement on what is being depicted either implicitly or explicitly. As philosophy, it
prescribes rules of conduct which will secure the goed life for all of society and not simply for ‘certain’
individual or classes.

The study of political theory is important because it allows us to examine the complex nature of
political power. By studying political theory we can examine the benefits and disadvantages of different
political systems.

Which one of the following s incorrect?

1. Political Theory not only involves explanation, description and prescription regarding the state

and political institutions but also evaluation of the moral philosophical purpose.

2. Theory is a systematic knowledge. it is an intelligent and moral creation of man.

3. It describes political reality and prescribes rules of conduct which will secure the good life for

all.

4. Political Theory developsin isolation,
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5)

Read the given passage and answer the five questions that follow:

Political theory is the study of Political ideas and values like Justice, Power and Democracy that we use
to describe, understand and assess political practices and institutions. Palitical Theory occupies a place
of preeminence in the domain of political science. |ts: develepment is closely intertwined with man's
quest for good life, Political theory deals with the conditions of collective life. It provides a system of
rule to guide social relationship on one hand and studies the evolution, nature, necessity and purpose
of government, on the other hand. |t tries to relate them with human perception and nature; as such it
tries to evolve a framework for analyzing man's political concerns and evolving a mechanism to solve
these problems.it must be noted that most of the theories came cut in the midst of crisis, wherein they
attempted to solve the problems, However, in their quest to address immediate problems, they engage
with perennial issues as well.

They are not limited or context bound. Instead their focus is often wide enough to cover world at
large. Political theory outlines a conceptual framework by which knowledge is synthesized. Different
theories have different sort of connection with the concepts. As such, differences arises in the kind of
problem they think to be of more sericus nature and consequently differences arise also in prescribing
the remedies: Hence, they enjoin both empirical and ethical statements, This-has been best illustrated
by A. Hacker; it is "dispassionate and disinterested” as science, it describes: political reality without
trying to pass judgement on what is being depicted either implicitly or explicitly. As philosophy, it
prescribes rules of conduct which will secure the goed life for all of society and not simply for ‘certain’
individual or classes.

The study of political theory is important because it allows us to examine the complex nature of
political pewer. By studying political theary we can examine the benefits and disadvantages of different
political systems.

Which of the following is true statement?

1. Political Theory Is largely an attempt to seek truth as certain individual and classessee it.

2. Political Theory aims at not only to understand and explain but alse to devise ways and means

to change society,

3. Political Theory has no role to remove imperfection from society.

4, Palitical Theory has no concern with what state ought to be.
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1)
The following table shows the number of students admitted (A) and left (L)
from the five different colleges (P-T) during the years 2016- 2021. Year of
foundation of all the five colleges is 2016. Based on the data in the table,
answer the questions 1-5:

Year-wise Distribution of Students

iCollege |P Q R 5 T

Year 4 & LA LA LA LA L

2016 2250 |- 2100 |- 2400 |- 3200 |- 3100 -

2017 660 |440 (900 |500 840 (4560 880G |500 (70D 450

2018 580 420 |50 (430 {800 |500 |800 |520 |[f60 |460

2019 620 400 570 (420 (7200 450 (790 440 (820 (440

2020 760 500 BOD |380 680 (480 840 450 |880 420

2021 700 460 680 |440 |820 |560 |20 480 |850 430

The average number of students studying in all the five colleges (P-T) in the year
2018 s

1.3168

2.3138

3.3148

4.3388
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fErenfifat @1 ad.ar faamor

LEIEEE Q R s T

Gl AL A LA LA Lla L
2016 2250- [2100/- |2400 (3200 [3100-
2017 660 |440/900 500|840 460[880 (500(700 (450
2018 580 |420(650 |430/800 [500(800 |520(760 |460
2019 690 |400/570 |420(720 450790 |440/820 |440
2020 760 |500[600 (380|680 [480/840 4501880 (420
2021 700 1460680 440|820 560920 |480i850 430

it oiet geifgemedt (-1 & oY 2018 & g el & <iga d=m feadt 22
1.3168
2.3188
3.3148
4.3388
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2)
The following table shows the number of students admitted (A) and left (L)
from the five different colleges (P-T) during the years 2016- 2021. Year of
foundation of all the five colleges is 2016. Based on the data in the table,
answer the questions 1-5:

Year-wise Distribution of Students

iCollege |P Q R 5 T

Year 4 & LA LA LA LA L

2016 2250 |- 2100 |- 2400 |- 3200 |- 3100 -

2017 660 |440 (900 |500 840 (4560 880G |500 (70D 450

2018 580 420 |50 (430 {800 |500 |800 |520 |[f60 |460

2019 620 400 570 (420 (7200 450 (790 440 (820 (440

2020 760 500 BOD |380 680 (480 840 450 |880 420

2021 700 460 680 |440 |820 |560 |20 480 |850 430

The number of students studying in College Q till 2020 is

1.2110
2, 2890
3.3090
4.3290



T 2016-2021 F SR UE fafim weEiEmedt (p - T) F UHE 2T (a) T BEHT
T4 (1) FenfiaT 9 ven Pefefae ot § weitfs &1 o o=t gerfderear
T RITIAT 94 2016 1 Ao & 28 74 SifFSl & YR U, UH 1 - 5 FT I
i ;

fErenfifat @1 ad.ar faamor

LEIEEE Q R s T

Gl AL A LA LA Lla L
2016 2250- [2100/- |2400 (3200 [3100-
2017 660 |440/900 500|840 460[880 (500(700 (450
2018 580 |420(650 |430/800 [500(800 |520(760 |460
2019 690 |400/570 |420(720 450790 |440/820 |440
2020 760 |500[600 (380|680 [480/840 4501880 (420
2021 700 1460680 440|820 560920 |480i850 430

HeTida o H 94 2020 T@ TR @AYyl @1 Se fbad § ?
1.3110
2. 2890
3.3090
4.3290
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3)
The following table shows the number of students admitted (A) and left (L)
from the five different colleges (P-T) during the years 2016- 2021. Year of
foundation of all the five colleges is 2016. Based on the data in the table,
answer the questions 1-5:

Year-wise Distribution of Students

iCollege |P Q R 5 T

Year 4 & LA LA LA LA L

2016 2250 |- 2100 |- 2400 |- 3200 |- 3100 -

2017 660 |440 (900 |500 840 (4560 880G |500 (70D 450

2018 580 420 |50 (430 {800 |500 |800 |520 |[f60 |460

2019 620 400 570 (420 (7200 450 (790 440 (820 (440

2020 760 500 BOD |380 680 (480 840 450 |880 420

2021 700 460 680 |440 |820 |560 |20 480 |850 430

The number of students:leaving is approximately ----- % of the number of students
taking admission in College Q from the year 2016 te 2021.

1.37

2.43

3.35

4.4



T 2016-2021 F SR UE fafim weEiEmedt (p - T) F UHE 2T (a) T BEHT
T4 (1) FenfiaT 9 ven Pefefae ot § weitfs &1 o o=t gerfderear
T RITIAT 94 2016 1 Ao & 28 74 SifFSl & YR U, UH 1 - 5 FT I
i ;

fErenfifat @1 ad.ar faamor

LEIEEE Q R s T

Gl AL A LA LA Lla L
2016 2250- [2100/- |2400 (3200 [3100-
2017 660 |440/900 500|840 460[880 (500(700 (450
2018 580 |420(650 |430/800 [500(800 |520(760 |460
2019 690 |400/570 |420(720 450790 |440/820 |440
2020 760 |500[600 (380|680 [480/840 4501880 (420
2021 700 1460680 440|820 560920 |480i850 430

¥ 2016 T a4 2021 & B Helldeed Q Bie ard [aeydl &1 9%, Uds| o ard
Taeniifal ] dwe o1 Ty T aiaerd (%) 87

1.37

2.43

3.39

4. 41

[Question ID = 11471][Question Description = 103_0_GP26_0CT22_S2_Q03]
1. 1 [Option ID = 15881]
2. 2 [Option ID = 15882]
3. 3 [Option ID = 15883]
4. 4 [Option ID = 15884]



4)
The following table shows the number of students admitted (A) and left (L)
from the five different colleges (P-T) during the years 2016- 2021. Year of
foundation of all the five colleges is 2016. Based on the data in the table,
answer the questions 1-5:

Year-wise Distribution of Students

iCollege |P Q R 5 T

Year 4 & LA LA LA LA L

2016 2250 |- 2100 |- 2400 |- 3200 |- 3100 -

2017 660 |440 (900 |500 840 (4560 880G |500 (70D 450

2018 580 420 |50 (430 {800 |500 |800 |520 |[f60 |460

2019 620 400 570 (420 (7200 450 (790 440 (820 (440

2020 760 500 BOD |380 680 (480 840 450 |880 420

2021 700 460 680 |440 |820 |560 |20 480 |850 430

if M.and N represent the number of the students admitted in college S and Q frem
2017 to 2021 respectively, then M-N =

1. 830
2,750
3. 870
4,770



T 2016-2021 F SR UE fafim weEiEmedt (p - T) F UHE 2T (a) T BEHT
T4 (1) FenfiaT 9 ven Pefefae ot § weitfs &1 o o=t gerfderear
T RITIAT 94 2016 1 Ao & 28 74 SifFSl & YR U, UH 1 - 5 FT I
i ;

fErenfifat @1 ad.ar faamor

LEIEEE Q R s T

Gl AL A LA LA Lla L
2016 2250- [2100/- |2400 (3200 [3100-
2017 660 |440/900 500|840 460[880 (500(700 (450
2018 580 |420(650 |430/800 [500(800 |520(760 |460
2019 690 |400/570 |420(720 450790 |440/820 |440
2020 760 |500[600 (380|680 [480/840 4501880 (420
2021 700 1460680 440|820 560920 |480i850 430

of% gy 2017 ¥ 84 2021 & did Helidencd S AR Q J Y99 o g jaanygl o1 g8
FOEMIRNGEIHAREITM-N=

1.830

2,790

3.870

4.770

[Question ID = 11472][Question Description = 104_0_GP26_0CT22_S2_Q04]
1. 1 [Option ID = 15885]
2. 2 [Option ID = 15886]
3. 3 [Option ID = 15887]
4. 4 [Option ID = 15888]



5)
The following table shows the number of students admitted (A) and left (L)
from the five different colleges (P-T) during the years 2016- 2021. Year of
foundation of all the five colleges is 2016. Based on the data in the table,
answer the questions 1-5:

Year-wise Distribution of Students

iCollege |P Q R 5 T

Year 4 & LA LA LA LA L

2016 2250 |- 2100 |- 2400 |- 3200 |- 3100 -

2017 660 |440 (900 |500 840 (4560 880G |500 (70D 450

2018 580 420 |50 (430 {800 |500 |800 |520 |[f60 |460

2019 620 400 570 (420 (7200 450 (790 440 (820 (440

2020 760 500 BOD |380 680 (480 840 450 |880 420

2021 700 460 680 |440 |820 |560 |20 480 |850 430

The percentage increase inthe number of students studying in 2021 to that in 2016
is maximum for the college

1.8
2.p
3.1
4. R



T 2016-2021 F SR UE fafim weEiEmedt (p - T) F UHE 2T (a) T BEHT
T4 (1) FenfiaT 9 ven Pefefae ot § weitfs &1 o o=t gerfderear
T RITIAT 94 2016 1 Ao & 28 74 SifFSl & YR U, UH 1 - 5 FT I
i ;

fErenfifat @1 ad.ar faamor

LEIEEE Q R s T

G AL ola LA LA L la L
2016 2250- [2100/- |2400 (3200 [3100-
2017 660 |440/900 500|840 460[880 (500(700 (450
2018 580 |420(650 |430/800 [500(800 |520(760 |460
2019 690 |400/570 |420{720. [450[790 |440i820 |440
2020 760 |500[600 (380|680 [480/840 4501880 (420
2021 700 1460680 440|820 560920 |480i850 430

gy 2016 @i fU&T 94 2021 H AWERG faeidnl @ dem 4 ufoen 9ig fow
HeTiaeey & fau siftean 4

1.8
2.p
3.1
4. R

[Question ID = 11473][Question Description = 105_0_GP26_0CT22_S2_Q05]
1. 1 [Option ID = 15889]
2. 2 [Option ID = 15890]
3. 3 [Option ID = 15891]
4. 4 [Option ID = 15892]

Topic:- 20_GP_110CT_SH2_S2_B

1) In which mode of learnirg, learners participate in active discussion and get
immediate feedback from the teachers?
1. Synichronous mode of learning
2. Asynchronous mode of learning
3. Spatial mode of learning
4. Relativist mode of learning



STH & (g UBR |, AHSal 9ithd Uigd] § Ge4F &l 6 iR [D&@] § @nd
WP s Sl 67

1. SH & TEdla® 9ER 4
2. HUTH & HTEHOD UPR
3. HUTH & =HF ISR §

4. STETH $ AUEARG] oK o

[Question ID = 11474][Question Description = 106_0_GP26_0CT22_52_QO06]
1. 1 [Option ID = 15893]
2. 2 [Option ID = 15894]
3. 3 [Option ID = 15895]
4. 4 [Option ID = 15896]

2) A child has learnt many things in his or her way with younger sibling by using
physical intimidation. if he/she uses the same tactics on peer, this indicates
1. Social learning
2, Assimilation
3. Equilibrium
4. Accomodation

BIE GO RIS SREY 7 UE 53¢ AU B2 Uniad (Us-984) & 9 U
e 4 950 ORI 91 Oraal &1 4 98 39 9fad @1 WO 30 YeU! & O S 8,
1. HHID HERH
2. STHFTHI
3. FrE
4, GHA

[Question ID = 11475][Question Description = 107_0_GP26_0CT22_52_Q07]
1. 1 [Option ID = 15897]
2. 2 [Option ID = 15898]
3. 3 [Option ID = 15899]
4. 4 [Option ID = 15900]

3) if a teacher neads to prepare a small animated video related to his/her topic of
teaching which softwares will be appropriate?

A, Mind Mapping tools

B. Animaker

C. Goegle Document

D. Pawtoon

E. Polleverywhere

Choose the correct answer from the options given below:,

1.A and D only
2.A Cand Donly
3.B, D and Eonly
4.8 and D only



ofg frd e o o E © Geftd fdl oy wide © Tl difsal oun &
@ HITREH 6l I, HFifd § § HH-4 Hiteddr 3uged gii?

A HISS JIUT eo
B, THHE

Jid Tou e fadedl 5 O U6l 9 9 -

1. HEFAARD
2. FEAA CIHRD
3. FHaA B, DIARE
4. FEAB AR D

[Question ID = 11476][Question Description = 108_0_GP26_0CT22_S2_Q08]
1. 1 [Option ID = 15901]
2. 2 [Option ID = 15902]
3. 3 [Option ID = 15903]
4. 4 [Option ID = 15904]

4) Given below are two statements

Statement I: Drupal is a paid software that enables users to upload content to
server.

Statement II: Joomla is a free and open-source content management system,

In light of the above statements, choose the most appropriate answer from the
options given below

1. Beth Statement | and Statement Il are correct

2, Bath Statement | and Statement |l are incorrect
3. Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct

HYF - | : gUT UP Gu WIUeaiR () § ol [ SudnTdaiel @1 et IR Siadg
(FvTar) 3uas o | gaE S Bl

HY - 1| ; I U H:2e® AR Had-Hid Haatd we = WO ol
Iulad YA & HEi® 4 FREfdRad [l H 8 el 3w 9 -

1.@YT I ARG S8l e
2. Y AR 1 GHITTEd 8
3. FYF | FEl 5, dip HYA | TTad 8
4 FYF A6, i BYA 1| T8l B

[Question ID = 11477][Question Description = 109_0_GP26_0CT22_52_Q09]
1. 1 [Option ID = 15905]
2. 2 [Option ID = 15906]
3. 3 [Option ID = 15907]
4. 4 [Option ID = 15908]



5) Match List | with List II

List . .
. List Il (Domains)
(Organizations)
I. Gut of Schoel Children Edueational
ALNITTTR
Programmes
Il. Engineering UG and PG Degree
B. CEC 2 9 d
Programmes
lll. Non-Technelegical Undergraduate
C. NPTEL
Degree Programmes
D. NIos IV. Teacher Training Programmes

Choose the correct answer from the options given below:

T.A-IV,B=-1,C-1l, D=1l
2Z2A-1ILB-1LC-1],D-1
SA-IVB-II,C-1I,D~1
4 A-1ILB-1,C-1IV,D-1

T -1 B3 -1 g P ;

O - (@) [ - (i)
A T 35 4 8 ). o @ Tt 9o © d8fte 2R sen
IR ()
TS I geiitaieT § defta g ug dien e U
' (@)

cTuMdTTg | IRENE! et st Sl s
D.UA G A TH v, Riares uiamn umme
1T.A-I,B=1,C-1II, D-II

2.A-1I,B=-1I,C~I, D-IV

3.A-IV,B=-1Il,C-1l, D=1

48-1,B=1,C-1V, D-1I

[Question ID = 11478][Question Description = 110_0_GP26_0CT22_52_Q10]
1. 1 [Option ID = 15909]
2. 2 [Option ID = 15910]
3. 3 [Option ID = 15911]
4. 4 [Option ID = 15912]

6) An empirical counterpart of a concept is called
1. Construct
2. Definition
3. Hypothesis
4. Variable

SGYRUN & HIHIdD Ul &l ol Ped o7
1. FfER
2. givHrET
3. @
4. TR

[Question ID = 11479][Question Description = 111_0_GP26_0CT22_S2_Q11]
1. 1 [Option ID = 15913]



2. 2 [Option ID = 15914]
3. 3 [Option ID = 15915]
4. 4 [Option ID = 15916]

7) The notion of categorical imperatives is a

. Fragmented norm
. Social distinction
3. Moral law

4, Situational ethic

FRUg 5T (Feiied gERicen) ®f SGURM & -
1. I HH S
2. grTfere fafRpdr
3, 9% fafy
4. gRRTag Hifaems

[ -

[Question ID = 11480][Question Description = 112_0_GP26_0CT22_52_Q12]
1. 1 [Option ID = 15917]
2. 2 [Option ID = 15918]
3. 3 [Option ID = 15919]
4. 4 [Option ID = 15920]

8)  Which of the following are the means of contro! in experimental research?
A. Controlling Physical Settings

B. Choice of participants

C. Statistical analysis

D. Focussing en Short-term effects

E. Sidetracking the causal factors

Choose the correct answer from the options given below,

1.4, Band Conly
2.B, Cand D only
3. C, D and E only
4. A DandEonly

Frafafes & @ $19-8 Wi o ¥ FeEe & e &
A. it ufaay @ @i Fafa s

B. TeyIfEl &1 gig

C. Tifensiy e

D. GBI WHIE! B EH disd B

£, SR Gatl gea! o1 gelfey

T Rr e e d g aw

1. &HaT A, BARC
2. FHaE B, C AR D
3. %A C, DARE
4 FAAA DIARE

[Question ID = 11481][Question Description = 113_0_GP26_0CT22_52_Q13]
1. 1 [Option ID = 15921]



2. 2 [Option ID = 15922]
3. 3 [Option ID = 15923]
4. 4 [Option ID = 15924]

9) Given below are two statements
Statement I: Research questions are used more in studies that do not focus on the
statistical significance of results;

Statement II: Research questions normally dominate the exploratory studies.

In light of the above statements, choose the correct answer from the options given
below

1. Both Statement | and Statement Il are true
2, Bath Statement | and Statemerit 1| are false
3, Statement | is true but Statement || is-false
4, Statement | is false but Statement [ is true

YT - | ; Y U & IUENT U =gl S fea widl & o 9ol & gieasiy
Hed W Bi5d 8l o

FYT - || : TTY T FEFGT: SUUES a3 HiUS Agaqu sd 8|
IULad DYA| & HdiD H HHiiaa [abedl H § Hol 9tk 9 -

1L@Y | AR ST g

2. FYF | AR | G 9T 8

3. FHYF | 9§, dio- &Y || g 8
4 FYF| HEAE, TP ®Y 11 gI 8

[Question ID = 11482][Question Description = 114_0_GP26_0CT22_52_Q14]
1 [Option ID = 15925]
2 [Option ID = 15926]
3 [Option ID = 15927]
4 [Option ID = 15928]

AN wN -

10) Given below are two statements, one is labelled as Assertion A and the other
is abellied as Reason R.

Assertion A: The effects of history in a social research study can be fatal.

Reason R: Various events-that occur during a study may not affect the opinions and
attitudes-of respondents;

In light of the above statements, choose the most appropriate answer from the
options given below;

1. Both A and R are carrect and R is'the correct explanation of A.
2. Both A and R are correct and R is the correct explanation of A.
3. A'is correct but R is not correct.
4. A is not correct but R iscorrect.



T w5 RUTE R : T @1 M@ (4) 3R GWR @ $RY (R) g1 M &l
HTGHYA (A) : GrEIIS =Y 8- H 3iaery & UYE 99 ol 9Fd 8l

RO (R) : B 9 & GRA §H arell A vesl ¥ Swarae @ 19 #R
Hftafoat guifad 8l 81 Gadi 6 |
UL DYA| o HdiD H HHlied lddedl H 4 Gel 3w 9 ;

1.A 3R R G 981 & 3TR R, A1 98 sArET &

2. A 3R REF G981 €, Tfd1 R, A T 9ol TRA 6l ol

3. A¥8l g, dfth R Tl o) Bl
4. A 98I T8l g, Tid- R 9ol Bl

[Question ID = 11483][Question Description = 115_0_GP26_0CT22_52_Q15]
1. 1 [Option ID = 15929]
2. 2 [Option ID = 15930]
3. 3 [Option ID = 15931]
4. 4 [Option ID = 15932]

11) Communicative power is meaningful only in the network of
1. Saocial relations
2. Ethical resistance
3. Restrictive freedom
4. Political oneupmanship

T Wifea Saa Hgifed Seas & adE el 5
1. TS GeY
2. JifceTa ufeRTe
3. NS Sdadl
4, To-ToE I

[Question ID = 11484][Question Description = 116_0_GP26_0CT22_S2_Q16]
1. 1 [Option ID = 15933]
2. 2 [Option ID = 15934]
3. 3 [Option ID = 15935]
4. 4[Option ID = 15936]

12) Referential framing connects communication media with
. Fantasy world

. Reality

. Self-regulation

[ -

P S

. Morality disruptions

Ya1e =u-fgie SdaRr grey @f Hyifea 2 O [egd oiedl a7
1. B ST
2, gy
3. A -faEgEE
4. e Ey

[Question ID = 11485][Question Description = 117_0_GP26_0CT22_52_Q17]
1. 1 [Option ID = 15937]
2. 2 [Option ID = 15938]
3. 3 [Option ID = 15939]
4. 4 [Option ID = 15940]



13) The key features of the interaction medel of communication are:
A It isatwao-way process,
B, The physical context of communication is unimpaortant.
C. The psychological context of communication is always taken into account.
D. Feedback is not & response to the message raceived.
E, It is less message-focussed.
Choose the correct answer from the options given below;

1.4 Band Conly
2.8, Cand D only
3.A CandE only
4.C, D and Eonly

Tm & e e oyl o g fadman 2
A. T8 3+ fexita ufsar g1

B. HUwYr &1 1ifgs o Heaydl Tdi 81

C. GUYT & FHIaRE 96y TR Hed [agR @4l a g
D. HfcTgi® TGl e &1 Uk el & |

E. T8 3U&TPd I HeW-disd oidl o

TR e d W aw I

1. HEAABARC
2. $HaE B, C AR D
3. FadA, CHRE
4 FEAC, DHARE

[Question ID = 11486][Question Description = 118_0_GP26_0CT22_52_Q18]
1. 1 [Option ID = 15941]
2. 2 [Option ID = 15942]
3. 3 [Option ID = 15943]
4. 4 [Option ID = 15944]

14) Given below are two statements

Statement |: In communication, codes have never been neutral in their reception,
Statement |I: Codes always represent meanings, reflecting partiality,

In light of the above staterments, choose the correct answer from the options given

below
1. Both Statement | and Statement |l are true
2. Baoth Statement | and Statement || are false

. Statement | is true but Statement || is-false

P

. Statement | is false but Statement [l is true



gy Rum s

@Y - | HUYU H Be I H4FeV H | Hl 9oy (FRUs) el w el
B - || : e Tod AU BT FET S0 & - 9&Ta UReiad s 8 |
ST DY & HITI® J Fgieiad [9eedl # 4 Hel 9ol 91 -

1.8 | IRFEF I T TR B
2. YT | R T I S T B
3. 941 Tl g g e 11 TEa B
4, BYF | 7100 &, g HYA (1 98l o

[Question ID = 11487][Question Description = 119_0_GP26_0CT22_52_Q19]
1. 1 [Option ID = 15945]
2. 2 [Option ID = 15946]
3. 3 [Option ID = 15947]
4. 4 [Option ID = 15948]

15) The sequence of common elements in the field of experience as related to
commuriication and identified by Wilbur Schramm is :
A, Values

B. Language

C. Attitudes

D. Beliets:

E. Culfure

Choose the correct answer from the options given below

CABCDE
LB, ECDA
.BLADEC
.CDEAB

[ —"

P

TaR © Haftd 3fyd & 47 § AR (ot wpH g
fafed oo ol @ S0 b

A TH

B. HTST

C. ffafrdl

D. HFay

E H@Bia

I feu e foped § S 98 S 9
1.A.B,C.D,E

2.B,ECDA

5BADEC
4 CDEAER

[Question ID = 11488][Question Description = 120_0_GP26_0CT22_52_Q20]



1 [Option ID = 15949]
2 [Option ID = 15950]
. 3 [Option ID = 15951]
4 [Option ID = 15952]

A wnN =

16) if A's income is 40% less than B's income, thern how much percent is B's income

more than A's income?

1.65.66
2. 64.66
5. 66.66
4. 55.66

ofG A @] 3T B @ 0 © 40% T &, dl B B A A B 3@ 4 Fad Uoza @
Bz

1.65.66

2. 64.66

1. 66.66

4.55.66

[Question ID = 11489][Question Description = 121_0_GP26_0CT22_52_Q21]
1. 1 [Option ID = 15953]
2. 2 [Option ID = 15954]
3. 3 [Option ID = 15955]
4. 4 [Option ID = 15956]

17) Consider the numbers a, b, € and d with values 54, 71, 75 and 99, respectively. Find a

number which may be subtracted from each of them such that '—; =

A1 7P a, b, c 3 d G731 & HHI: 37 914 54, 71, 75 A 99 &
g8 YBIT i Siferg fordl Tde Sl Y uem e ol ¢ = 5 W8l

[Question ID = 11490][Question Description = 122_0_GP26_0CT22_S2_Q22]
1. 1 [Option ID = 15957]
2. 2 [Option ID = 15958]
3. 3 [Option ID = 15959]
4. 4 [Option ID = 15960]

18)  Find the next term in the series given below -
6, 13, 27,55, 111, ?

N -
R
(=]
o

o
[
[
P



J<1 €1 718 e F ST UE 919 Siiod ;
6,13, 27,55, 111,17

1.233
2,166
3.223
4,222

[Question ID = 11491][Question Description = 123_0_GP26_0CT22_52_Q23]
1. 1 [Option ID = 15961]
2. 2 [Option ID = 15962]
3. 3 [Option ID = 15963]
4. 4 [Option ID = 15964]

19) The average weight of 15 men is decreased by 2 kg when one of them whose weight
is 70 kg is-replaced by a new man. What is the weight of the new man?
1.35
2.45
3.38
4.40

15 Sfgaal & ahﬂﬁaﬁ:rﬁﬁiimﬁ_mamﬁfwmﬁaﬁl TH 4 Afed
BRI UaRiud @3- W 2 foo1 92 =i g1 o1 74 oaied @7 g9 [dea el

1.35
2,45
3.38
4.40

[Question ID = 11492][Question Description = 124_0_GP26_0CT22_S2_Q24]
1. 1 [Option ID = 15965]
2. 2 [Option ID = 15966]
3. 3 [Option ID = 15967]
4. 4 [Option ID = 15968]

20) Simple interest on a certain sum of maney at the rate of 5% per annum for 4 years is
Rs. 800. What will be the compound interest an the same sum for the same period
and at the same rate of interest?

1. 850

B840

B35

B62

]

B

fopdlt e <1 OR 5% a1fte 0T o O3 4 961 o feie TTRY] 34719 Rs. 800 & | I
IR 7 ST Haf SR I ST &) OX Ibdig SaTel fa-l iz

1.850

2.840

3.855

4,862

[Question ID = 11493][Question Description = 125_0_GP26_0CT22_S2_Q25]
1. 1 [Option ID = 15969]
2. 2 [Option ID = 15970]
3. 3 [Option ID = 15971]
4. 4 [Option ID = 15972]



21) Which of the following statements are sub-contraries]
&, All nurses are caring human beings.

B. Nao nurses are caring human beings.

C. Some nurses are caring human beings.

D. Senie nurses are not caring human Beings,

Choose the correct answer from the options given below;

1. A and B enly
2. A and D only
3. B and C only
4. Cand Donly

Faifea 5 43 4§97 Su-lauia® a7
A. G 9 TW-E@ Hae] H1E Bl 8
B.@1% Wl 7% SE-@ SE-ardl Hd e 81l 81
C. BB 79 oE-18 HHdE TFE gl gl
D. P& 4 GE-1E SHEar 74 el oidi 8
Tafu e faea d G Wi sw g

1. 9a0 A 3R B

2. @ad A R D

3. @aAE AN C

4. WA C AN D
[Question ID = 11494][Question Description = 126_0_GP26_0CT22_S2_Q26]
1. 1 [Option ID = 15973]
2. 2 [Option ID = 15974]

3. 3 [Option ID = 15975]
4. 4 [Option ID = 15976]

22) |dentify the formal fallacy committed in the following argument;

"All communists are revolutionists. All anarchists are revolutionists. Therefore, all
anarchists are revolutionists.”

1. the fallacy of the undistributed middle
2. The existentialist fallacy

3. llicit major

4. Nicit minor

g ofa o sieiie oo a8 @ 9e414u ;
i Gl HiapRl 8 8l 94l sR@aigal Hia@Rl eid &l 39eg g
RSB AEG] BIaeRI sl al”

1. fsifanivd ver & gaey
2. dfETaare! adaN

3. Y UHE UG

4. HGY T UG



[Question ID = 11495][Question Description = 127_0_GP26_0CT22_S2_Q27]
1. 1 [Option ID = 15977]
2. 2 [Option ID = 15978]
3. 3 [Option ID = 15979]
4. 4 [Option ID = 15980]

23) Which of the following statements are logically equivalent?
A NoSisP

B.NoPisS

C. All S are non-P

D. All non-P are non-S

E.No'S is non-P

Choose the correct answer from the options given below;

1.4, Cand D only
2.4 Band Conly
3.B, Cand D only
4 A B CandDonly

Foifd 4 S @M § @ diide elP 4 §aqeg 6 7
A ®ISS, PRI B 5|

B, 1% P, S TEI &I 81

C. 94 s, TR-P Bl B

D. gHITR-p, RS B &1

E @15 His, TR-p A2 Bl B

el Tou e fawed| | § wEl S g

1.5ad A, C3RD
2. TAAA,BARC
3. %HaE B, C AR D
4 FHATA, B CIRD

[Question ID = 11496][Question Description = 128_0_GP26_0CT22_52_Q28]
1. 1 [Option ID = 15981]
2. 2 [Option ID = 15982]
3. 3 [Option ID = 15983]
4. 4 [Option ID = 15984]



24) Which of the follewing steps of inference state(s) the reason for the establishment of
the propesition according to the Classical Indian Schosol of Logic?

A. The hill has fire.

B. Because it has smoke,

C. Whatever has smoke has fire e.g. oven,

D. This hill vas smoke which is invanably associated with fire,
E, Therefore this hill has fire.

Choose the correct answer from the options given below;

. Conly
.Dand E only
. B only

o -

.C and D only

[ufafad s9aM @ @F 97 4 90 HRO™ O & H6R, dJoaied @] W] &
BN & Feoid P b -

A TUBTEl H 3 B
B, T SO Y2l B
C. =751 ®e] U1 43 il &, 96l A BIal 8, SaIetuNY deel
D. 39 UeTS! § 431 & 9 FHevarae: o ¥ Uss s s
£, 39T sH UEEST & A 2
i fgu e fawed & € 48l IR 94

1. @ad C

2.%au D IR E

3, Had B
4, BT C XD

[Question ID = 11497][Question Description = 129_0_GP26_0CT22_52_Q29]
1. 1 [Option ID = 15985]
2. 2 [Option ID = 15986]
3. 3 [Option ID = 15987]
4. 4 [Option ID = 15988]



25) Given below are two statements
Statement |: Indian Logic makes a distinction between deduction and induction,

Statement II: [ndian Lagic studies thought as such and not the forms of thought
alane,

In light of the above staternents, choose the correct answer from the options given
below

1. Both Statement | and Statement || are true
2. Both Statement | and Statemenit |l are false
3. Statement | is true but Statement |l is-false
4, Statement | is false but Statement [l is true

Jeg ey Rum g,
TYF - | : URO 2R 3 e SiR 39 & 79 fais [ear s g

WY - || - YR T J e fowad @ 39ES 51 @l € 7 @ oad dad &
HHRT BT

ST DY & HITI® 4 FHiead (9ol 4 vel g g

1.7YF AR eI Tg &

2. YT | AR I Gl 3 EE B

3. FY | IO T, AfbT oY 1| 3T 2
4 Y| FTA L, T YT 1 TGI8

[Question ID = 11498][Question Description = 130_0_GP26_0CT22_S2_Q30]
1. 1 [Option ID = 15989]
2. 2 [Option ID = 15990]
3. 3 [Option ID = 15991]
4. 4 [Option ID = 15992]

26) A teacher has created a spredsheet of test marks of five students. She has written a
formula =HLOOKUP(B4, $DS&1; 8K52, 2) in cell C4 and copies this formula from cell c4
to the range C5:C8 What values will be returned by the formulae in the range
C4:C87

3 B C DEFIGHN I |k
9(27|33/40/47

fry
o |
b
pury
=
=y
w0

2

3|Name |Marks
4|Anil 43 =HLOOKUP(B4, $D51: $K582, 2)
5|Amit |85
6
=
8

Varun |25
Anita |20
Harish |10

1. A € & G and F. respectively
2.B,C, E Gand U, respectively
3.A, C E Fand U, respectively
4. B, A C Eand G, respectively



uw e 4 Urd faeniial & odign siel @1 $SUiie ouR @1 99 Sisgic § ¢4 9
H U@ I =HLOOKUP(B4, SDS1: $K$2, 2) [EraT IR 38 93 @l 99 (4 Y C5:C8 BI o A
Bl [aT1 39 c4:ca H @ Y BH 4 3F FH b 811 7

A B [€ DEEIF |G H |l
0(9]14[19(2733/40147
UGF [E D |C

=
~

(==
I

HAT 43 |=HLOOKUP(B4, SD$1: SKSZ, 2)

B[ o [0 &= [ W][r]=
73]
LA

B (10
1.59% A CEGIARE
2. 599 B, G, E G 3R U
3.3 A CEFIIRUY
4. P B A CEIRG

[Question ID = 11499][Question Description = 131_0_GP26_0CT22_52_Q31]
1. 1 [Option ID = 15993]
2. 2 [Option ID = 15994]
3. 3 [Option ID = 15995]
4. 4 [Option ID = 15996]

27) In Microsoft Office Powerpoint, ‘Smartart' provides predefined sets of diagrams for
users to use. Which of the following are types of diagrams provided by the Microsoft
Powerpoint Smarthrt feature?

A, Layer

B. Process

C. Hierarchy

D. Cycle

E. Relationship

Choose the correct answer from the options given below;

1. A, B, Cand Donly
2.B,C, DandE only
3. C and D only

4 A BandDonly



AEHigGe AipbY Uil @R §, §) A1 Edsl & g & o SEE @l
gasiRa 99 WelH &l ol FMEfkiad § 4 HIShNiR gl wige |ie Je
9 g1 Uad SI9UE & R & 4 87

A TRd TR)

B. Uiehd] (WrG9)

C. UGH&H (EH®)

D. TP (Gigid)

£, Hay (Rarmfam

i fou e famed 3 G e ST g -

1.BEAA, B, CHR D
2. 399 E, C, D IARE
3. HadCcARD

4, HIAABARD

[Question ID = 11500][Question Description = 132_0_GP26_0CT22_S2_Q32]
1. 1 [Option ID = 15997]
2. 2 [Option ID = 15998]
3. 3 [Option ID = 15999]
4. 4 [Option ID = 16000]

28) Which of the following storage media from the list A-E given below are optical
storage media only?
A, DVD RAM

B. Pen drive

C. Magnetic tape

D.SSD

E. Blue-ray disc

Choose the correct answer from the options given below;

1.B, Cand D only
2. Aand B enly
3. Dand E only
4. A and Eonly



i 31 T gl A-£ | Fafoiad @ O S9e0 Hilsdl had iHikie adsu Hisdl 8 ?
A SETSIH

B, U 3154

c. dsag ey

D. THTHS!

E = e

i fgu e fased| 5 € 981 Sw g

1. Had B, C AR D
2. HaA A AR B
1. FHEAD ARE
4 FAAAHRE

[Question ID = 11501][Question Description = 133_0_GP26_0CT22_52_Q33]
1. 1 [Option ID = 16001]
2. 2 [Option ID = 16002]
3. 3 [Option ID = 16003]
4. 4 [Option ID = 16004]

29) Which of the following are examples of fraudulent use of the Intermnet?
A, Blogging

B. Booking a cinema ticket

C. Pharming

D. Phishing

Choose the correct answer from the options given below;

1. A and B enly
2. Cand Donly
3. B and C only
4. Aand D only

$TX-E o SAgu TN & JaTetyl HEigd § ° @ | 87
A ST
B, U o491 fede g0 ool

C, PITET (GER Bige / GIfedd? 4 Mu-1g €9 4 sgard ®1 4y

D. fFRI @Ge3-c & wres 9 @il @1 giar o)

I fgu e fased| | € 98] IR g9 ;
1. 5ad A B
2. HEACIARD
3. Hadeelc
4 FHaA A AR D

[Question ID = 11502][Question Description = 134_0_GP26_0CT22_52_Q34]

1. 1 [Option ID = 16005]
2. 2 [Option ID = 16006]



3. 3 [Option ID = 16007]
4. 4 [Option ID = 16008]

30) Match List | with List 11
List | (Input Device)|List Il (Use)

A, Graphics Tablet |l To input data at an information kiesk

B, Touch Screen Il. Te input data from & product in a supermarket (at a POS)
. Bar Code Reader |lIl. To input a BIN

D. Numeric Keypad |IV. To input freehand drawing

Choose the correct answer from the options given below:

TA-WB-ILC-[,D=II
2A-NILEB-I,C-|,D-1V
s A-LB-IV,C-1I,D-]l
4 A-IVB-1,C-1I,D-1I

Tl - @l g -1 | g S

" gt g
%ﬁg mm@gﬁdif&mﬁmmalctﬂﬁ%ﬂmﬁ%ﬁm
II. GUR Hbe (TS HISE W) § &9 3AE ¥ 51
. R @18 s |1, o7 3o & fore
%waﬁ v, T Rl B & g

=it feq e faeedl H € W61 9w g

TA-WB-I,LC-1,D=II
2Z2A-NLB-ILC-I, D-IV
3.A-LB-IV,C-1I, D=1
4A-IV,B-I,C-1I, D-]lIl

[Question ID = 11503][Question Description = 135_0_GP26_0CT22_S2_Q35]
1. 1 [Option ID = 16009]
2. 2 [Option ID = 16010]
3. 3 [Option ID = 16011]
4. 4 [Option ID = 16012]

31)  Over the past 100 years, the estimated rise of global sea level is by 10 - 25 cm or
more. Which one of the following has maximum contribution in it?

1. Thermal expansion of ocean waters
2. Glacier and ice- cap melting
3. Greenland ice sheet thinning

4. Terrestrial water storage changes due to human activities



faTa 100 a6l 7, S w9z 99 7 10-25 941 91 39 e &1 9is Sisfod @1 715 8|
39 9iE | Fefaied § | e greH galiue 87

1. AETENRIG o @ aiiig TER

2. [B9Ae IR feHea &l [o=e

3. FATS Pl SBicl Gd Bf a1He

4, AMAIY FEGEM] @ BRY gl od 9994 1 gacd

[Question ID = 11504][Question Description = 136_0_GP26_0CT22_52_Q36]
1. 1 [Option ID = 16013]
2. 2 [Option ID = 16014]
3. 3 [Option ID = 16015]
4. 4 [Option ID = 16016]

32 A ; ;
) Aerstion process is efficiently used to remave

1. Persistant Organic Pollutants
2. Volatile Organic Compounds
3. Metals

4. Inorganic ions

FaTaiea 9 © ol ger @ [T aiad wisha &1 Gaiaigd® qanT il sl 82
1. Favedl sEF® uge®
2. STEE SreH® DS

o

I
4, FFEAD AT

[Question ID = 11505][Question Description = 137_0_GP26_0CT22_S2_Q37]
1. 1 [Option ID = 16017]
2. 2 [Option ID = 16018]
3. 3 [Option ID = 16019]
4. 4 [Option ID = 16020]

33) What is the correct order of Risk assessment due to exposure of some chemicals to
the humans
A, Dose Response Assessment

B. Exposure Assessment
C. Risk Characterization
D, Hazard Identification
Choose the correct answer from the options given below

CABCD
OB CA
.G DA B
DA B, C

[ -

P



qal H o WHEEl & IR & GieH-He0d 51 Hal HIEH FHidigd 3 9 ®iF g
&

A TP 3T SHida

B, TETH 3o

C. SiITEH -5

D. ¥4 & UgdH

i fgu e faeed| 5 9 el S g

ABCD
0BG A
LG DA B
DA B, C

1,5

S ]

[Question ID = 11506][Question Description = 138_0_GP26_0CT22_S2_Q38]
1. 1 [Option ID = 16021]
2. 2 [Option ID = 16022]
3. 3 [Option ID = 16023]
4. 4 [Option ID = 16024]

34) National Disaster Management Authority (NDMA) works under the aegis of
1. Ministry of Earth Science (MoES)
2. Ministry of Home Affairs (MHA)
3. Ministry of Environmental Forest and Climatic Change (MoEFIC)
4, Department of Space- Indian Space Research Organisation ([ISRO)

AP HUE] YA UITYeRTl (GTS1eAY) Mafciad 4 4 fus qaieyF 3 & @xd &

1. g fas Haed (Enaiee,

2. 7[g HAITHY (THEY)

3. g9iaYul 94 UF Sioarg giNad- Sed (EEesuna)
4, A faur - yRdig Saie IEyE 96T G99)

[Question ID = 11507][Question Description = 139_0_GP26_0CT22_52_Q39]
1. 1 [Option ID = 16025]
2. 2 [Option ID = 16026]
3. 3 [Option ID = 16027]
4. 4 [Option ID = 16028]



35)  Which of the following statements are correct in this context of energy crops ?
A. They are fast growimg plants
B. They require specific season to grow
C. They necessarily require fertile land to grow
D. They tan be cenverted into gaseous and liquid fuel
E. They generally have high calorific value
Choose the correct answer from the options given below;

1.4, Dand Eanly

2. A B Cand Donly
3.8, C, Dand E only
4.C, D and Eonly

Feligrdl BHT b HaH A FaEfiad ouHl F P 4 ¥l 6 ?

A, 9 dofl @ 954 a1 URU B

B. 3 i o [o¢ 1a9IY Hd & Havadhal sial 8

C. 3% gfs & fou s1esoe w0 9 3@ uffy & snamaar
gt 81

D.d 3¢ U/ ok TXa 39 § Suiafid &l 9@ o

E. GTHIT: 3] el 91 HiS BT e

Jrd R e fapadl 4 W8 S
1. 690 A DARE
2. Fad A, B, CARD
3. @98, C, D3IRE
4 FaECDANE

[Question ID = 11508][Question Description = 140_0_GP26_0CT22_S2_Q40]
1. 1 [Option ID = 16029]
2. 2 [Option ID = 16030]
3. 3 [Option ID = 16031]
4. 4 [Option ID = 16032]

36) The National Knowledge Commision recomended the establishment of
1. 50 National Universities
2. 50 technological universities
3. 50 universities of science education
4, 50 universities of yega and naturopathy

P T A | FEiEd J 9 ey @ e ol e e 2

1. 50 ¥ fayfaeey

2. 50 Uiy faufaees

3. 50 fagm [N faxfaeaa

4. 50 TR AR Wipid® (did faxfaerey



[Question ID = 11509][Question Description = 141_0_GP26_0CT22_S2_Q41]
1. 1 [Option ID = 16033]
2. 2 [Option ID = 16034]
3. 3 [Option ID = 16035]
4. 4 [Option ID = 16036]

37)  According te UGC, which of the following are objectives of comunity colleges ?
A, To provide skill based education to the students of higher education.
B, To make higher education relevant to the learmer and communities,
C. To provide vertical mobility for pursuers of higher education,
D. To open vistas of employment.
E. To train youngsters in traditional skilll sectors:
Choose the correct answer from the options given below;

1.A B, Conly
2.8, C, Donly
3.C D Eonly
4 A D Eonly

fasfaed sEaE UM & R s Aeiagedl & 3w Feffgg 7 9
THET B

A. 3= g & faenfifat o s s e ueH &3

B, I f2iaT &1 gl R Ugey & o e E

C. T 181 Wit e Tl faeidgl & foig SHeaier TMicRiicid war &3

D. TR & HIER GieH]

E. Ga13{] @I GRERETE SIEd &5 H Ui S

T e d d W T

1. BEAA BARC
2. HAAE, C HR D
3.®AAC, D ANE
4, HIAA, D AR E

[Question ID = 11510][Question Description = 142_0_GP26_0CT22_S2_Q42]
1. 1 [Option ID = 16037]
2. 2 [Option ID = 16038]
3. 3 [Option ID = 16039]
4. 4 [Option ID = 16040]



38) Given below are two statemeants

Statement 1: Skill based education is focused on the idea that it may be learned
better if it is practised in real life.

Statement Il: Non- conventional higher education is totally based on the teaching-
learning activities that are offered on campus with fixed - time classes.

In light of the above statements, choogse the correct answer from the options given
below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
5. Statement | is true but Statement |l is-false
4, Statement | is false but Statement [l is true

g e RumE.
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o fea ST g, O 39 9ol dud § 9l o Gedl gl
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Sulad yH! & e o FRufafad e § 9 98l S 3
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2. FYT | AR G 2EE R

1. P G T, ofco ®YA || T 8
4. FUY| HEAE, OoI P47 11 I8

[Question ID = 11511][Question Description = 143_0_GP26_0CT22_S2_Q43]
1. 1 [Option ID = 16041]
2. 2 [Option ID = 16042]
3. 3 [Option ID = 16043]
4. 4 [Option ID = 16044]

39)  Which of the following ancient universities developed connaction with the viharas?
A, Nalanda

B. Valabhi

. Takshashila

D. Navadeep

E. Odantapuri

Choose the correct answer from the options given below;

1. A and C only

2. A, C and D only
3.A B Cand Eonly
4. A Band Conly



Fraifsd & & oo Wi feufdenerdl &1 i faerT & dey d gam
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B, FemiHl

c. defen

D.FggM™

E, 3igiagdl
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1. HEFAARC

2. FHEAA CIHRD
3. PaAA, B CHRE
4. FEAABHARC

[Question ID = 11512][Question Description = 144_0_GP26_0CT22_52_Q44]
1. 1 [Option ID = 16045]
2. 2 [Option ID = 16046]
3. 3 [Option ID = 16047]
4. 4 [Option ID = 16048]

40) Which of the ancient places of higher learning developed in connectien with
temples and became centres of community life in the places where they were
situated?

A, Benaras

B, Navadeep

C. Odantapuri

D. Kanchi

E. Jagaddala

Choose the correct answer from the options given oelow;

1. C and D only

2. A Band Donly
3. A and D only

4 A B CandEaonly
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4. PATA, B CHRE

[Question ID = 11513][Question Description = 145_0_GP26_0CT22_S2_Q45]
1. 1 [Option ID = 16049]
2. 2 [Option ID = 16050]
3. 3 [Option ID = 16051]
4. 4 [Option ID = 16052]

Topic:- 20_GP_110CT_SH2_S2_C

1)

Read the passage and answer the given questions from 46 to 50,

The war on poverty earlier was interiwined with the population problem.
Statements and positions regarding population began to proliferate. In many
instances, a crude forny of empiricism was followed, it made Malthusian views and
prescriptions - inevitable. This is despite the experts making serious attempts to
conceptualise the effect of demographic faciors on development models and
thearies were formulated sesking to relate various variables and to provide a basis
for policy and programme formulation. As the experience of the West suggested, it
was hoped that population growth rates would begin to fall as the countries
developed. But as many warned, countries-could not wait for this process to occur.
They should speed up the reduction of population growth by more dirsct means.
To be sure, this-preoccupation with population had existed for several decades,
especially in relation to Asia. it was a central topic in discussion on race and racism.
But the scale and form that the discussion took were new. The discussions held in
academie circle or in the ambit of the pascent international organisations also had
a new tone, They focussed on topics such as relationship between economic
growth and population contrel, They also discussed topics such as demographic
experience of rich countries and its possible impact on poor nations, Now the need
is-a new view of population, with new scientific and technological instruments to
mianage it



What made the Malthusian views on population logk inevitable?
1. War on poverty
2, Proliferation of statements on population
3. unrefined empiricism
4. Justification on unrelated grounds
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[Question ID = 11514][Question Description = 146_0_GP26_0CT22_S2_Q46]
1. 1 [Option ID = 16053]
2. 2 [Option ID = 16054]
3. 3 [Option ID = 16055]
4. 4 [Option ID = 16056]



2)

Read the passage and answer the given questions from 46 to 50,

The war on poverty earlier was intertwined with the population problem.
Statements and positions regarding population began to proliferate. In many
instances, a crude fornt of empiricism was followed, it made Malthusian views and
prescriptions - inevitable. This is despite the experts making serious attempts to
conceptualise the effect of demographic faciors on development models and
theories were formulated seeking to relate various variables and to provide a basis
for policy and programme formulation. As the experience of the West suggested, it
was hoped that population growth rates would begin to fall as the countries
developed. But as many warned, countries-could not wait for this process ta occur.
They should speed up the reduction of population growth by more dirset means.
To be sure, this-preoccupation with population had existed for several decades,
especially in relation to Asla. it was a central topic in discussion on race and racism.
But the scale and form that the discussion took were new. The discussions held in
academie circle or in the ambit of the pascent international organisations also had
a new tone, They focussed on topics such as relationship between econemic
growth and population control. They also discussed topics such as demographic
experience of rich countries and its possible impact on poor nations. Now the need
is-a new view of population, with new scientific and technological instruments to
mianage it

IModels relating to different variables of demography formed the basis of

1. Population distribution

2, Attempts to create new population concepts,
3. Effects on poverty elimination.

4. Development policy formulation,
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[Question ID = 11515][Question Description = 147_0_GP26_0CT22_S2_Q47]
1. 1 [Option ID = 16057]
2. 2 [Option ID = 16058]
3. 3 [Option ID = 16059]
4. 4 [Option ID = 16060]



3)

Read the passage and answer the given questions from 46 to 50,

The war on poverty earlier was intertwined with the population problem.
Statements and positions regarding population began to proliferate. In many
instances, a crude fornt of empiricism was followed, it made Malthusian views and
prescriptions - inevitable. This is despite the experts making serious attempts to
conceptualise the effect of demographic faciors on development models and
theories were formulated seeking to relate various variables and to provide a basis
for policy and programme formulation. As the experience of the West suggested, it
was hoped that population growth rates would begin to fall as the countries
developed. But as many warned, countries-could not wait for this process ta occur.
They should speed up the reduction of population growth by more dirset means.
To be sure, this-preoccupation with population had existed for several decades,
especially in relation to Asla. it was a central topic in discussion on race and racism.
But the scale and form that the discussion took were new. The discussions held in
academie circle or in the ambit of the pascent international organisations also had
a new tone, They focussed on topics such as relationship between econemic
growth and population control. They also discussed topics such as demographic
experience of rich countries and its possible impact on poor nations. Now the need
is-a new view of population, with new scientific and technological instruments to
mianage it

The western experience was that development would bring in

1. Racial equality

2. Decrease in population

3. The end of discussions on racism,
4, International focus on Asia.
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4)

Read the passage and answer the given questions from 46 to 50,

The war on poverty earlier was intertwined with the population problem.
Statements and positions regarding population began to proliferate. In many
instances, a crude fornt of empiricism was followed, it made Malthusian views and
prescriptions - inevitable. This is despite the experts making serious attempts to
conceptualise the effect of demographic faciors on development models and
theories were formulated seeking to relate various variables and to provide a basis
for policy and programme formulation. As the experience of the West suggested, it
was hoped that population growth rates would begin to fall as the countries
developed. But as many warned, countries-could not wait for this process ta occur.
They should speed up the reduction of population growth by more dirset means.
To be sure, this-preoccupation with population had existed for several decades,
especially in relation to Asla. it was a central topic in discussion on race and racism.
But the scale and form that the discussion took were new. The discussions held in
academie circle or in the ambit of the pascent international organisations also had
a new tone, They focussed on topics such as relationship between econemic
growth and population control. They also discussed topics such as demographic
experience of rich countries and its possible impact on poor nations. Now the need
is-a new view of population, with new scientific and technological instruments to
mianage it

The new tone of academic discussion was related o

A, Economic growth and population control

B. Resource mebilisation and output

C. Racial factors and demography,

D. The pre-accupation of the west with population control.

Choose the correct answer from the options given below:

1.Aand B
2.BandC
3.Cand D
4. Aand C
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5)

Read the passage and answer the given questions from 46 to 50,

The war on poverty earlier was intertwined with the population problem.
Statements and positions regarding population began to proliferate. In many
instances, a crude fornt of empiricism was followed, it made Malthusian views and
prescriptions - inevitable. This is despite the experts making serious attempts to
conceptualise the effect of demographic faciors on development models and
theories were formulated seeking to relate various variables and to provide a basis
for policy and programme formulation. As the experience of the West suggested, it
was hoped that population growth rates would begin to fall as the countries
developed. But as many warned, countries-could not wait for this process ta occur.
They should speed up the reduction of population growth by more dirset means.
To be sure, this-preoccupation with population had existed for several decades,
especially in relation to Asla. it was a central topic in discussion on race and racism.
But the scale and form that the discussion took were new. The discussions held in
academie circle or in the ambit of the pascent international organisations also had
a new tone, They focussed on topics such as relationship between econemic
growth and population control. They also discussed topics such as demographic
experience of rich countries and its possible impact on poor nations. Now the need
is-a new view of population, with new scientific and technological instruments to
mianage it

The passage, in the final analysis, suggests

1. A new scientific:management of population control.

2. The study of demegraphic dividends in the west.

3. The rejection of all previous studies on population control,

4. The linkage of racism, poverty and population with academic solutions.
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